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MR. MILLAR:  Good morning, everyone.  Welcome to day 2 of our technical conference.  I think there are a couple of preliminary matters from Mr. Rodger.


Preliminary Matters:

MR. RODGER:  Thank you, Mr. Millar.  Yes, just two matters.

The first is that Mr. Whitehouse, who is one of the witnesses for PDI, he has to leave at noon today.  So if there were any questions from the parties on corporate services, if you could please ask them this morning.  I think there was only one interrogatory perhaps from VECC that dealt with this, but I wanted to just raise that.


The second is a correction on the record that Mr. Stephenson would like to make that arose from his exchange with Mr. Shepherd yesterday.  For the record, it is page 167.  And at line 19 Mr. Shepherd asked Mr. Stephenson about the status quo forecast about how many substations were to be replaced.


At line 22 Mr. Stephenson said "I'm not sure if I can answer this", but then over the page on page 168, at line 8 to 10, Mr. Stephenson said, and I quote:

"And then forecasting going forward I think that we're looking at probably one a year over the next nine years."

Mr. Stephenson, you wanted to address this.  The impression given is that you were talking about replacing all nine.  And could you provide the correction --


MR. JOHN STEPHENSON:  I mean, maybe a slight, you know, correction on semantics, but it is important, I think.


We were talking in the context of replacement, but clearly we are looking at one substation a year.  Some of those will obviously be refurbished.  So when we talk about replacement versus refurbishment, sometimes there is a small distinction there.  Obviously we would be looking at each station as it uniquely stands in its condition.  Refurbishment is still very expensive if you are looking at most of the equipment contained therein, so --


MR. SHEPHERD:  Can I just follow up on that?  My understanding from what you said yesterday was that the cost of replacement versus refurbishment is in the same range.  Refurbishment obviously is the more efficient choice when you choose it, but the cost is still in the same range.  Is that fair?


MR. JOHN STEPHENSON:  Certainly what we're projecting and our projections are incorporating refurbishment, so, you know, I think that you are going to be relatively close, but it's going to be dependent on each condition in each station, right?  So --


MR. SHEPHERD:  I understand.  And then the other follow-up is to Hydro One.  When you said you your plan replaces six stations, is that six stations replaced or refurbished or is that six stations replaced?  And if so, are there refurbishments as well?


MR. FALTOUS:  So the details of exactly what we're going to do for every one of those stations have not yet been confirmed, but we do have dollars to be able to address that station.  Whether the appropriate is to replace it or whether it's to refurbish it, that will be worked out upon closing of the transaction, upon developing a detailed plan.


MR. SHEPHERD:  But there is six of them?


MR. FALTOUS:  There are six that we have clearly identified, but there is a capital envelope that could be used to address more if needed.


MR. SHEPHERD:  Okay, thanks.


MR. MILLAR:  That was the end of the preliminary matters?


MR. RODGER:  That was it, Mr. Millar.


MR. MILLAR:  Thank you very much.  I think we are continuing with Board Staff and Mr. Bishop.

Examination by Mr. Bishop:

MR. BISHOP:  Thanks, Michael.  Good morning, panel.  Thank you.


So the first IR response that I want to focus on were the responses that you provided to IR 7 in the Orillia -- this is OEB Staff IR number 7 and the Orillia proceeding, and number 46 in the Peterborough proceeding.


So the questions themselves were essentially the same, and the responses that you provided to both were essentially the same as well.


MR. KEIZER:  Mr. Bishop, could you maybe pull your microphone up closer, because we have a little bit of a hard time hearing you.


MR. BISHOP:  Yes, okay.  So what I just want to draw your attention to here is the commitment that Hydro One made in response.  So just let me back up a sec.  So in the preamble to these IRs we provided a quote from your application, and in the application you'd stated that you had committed to tracking actual incremental OM&A and capital cost to serve PDI and/or Orillia during a deferred rebasing period.


The first question I have, and it is just one of clarification, can you provide a definition or explain the difference between what you mean by residual costs to serve and incremental costs to serve?


MS. RICHARDSON:  I understand the confusion.  So when we are talking about on a forecast basis, we're talking about incremental costs.  So when we're talking about the costs we're referring to it as incremental.  When we're talking about it for ratemaking purposes, we switch the word to residual.  In essence they're more or less the same.


MR. BISHOP:  Okay.  Interchangeable, okay.  That was somewhat of our suspicion, but we just wanted to confirm that that was actually the case.


MR. SHEPHERD:  Sorry.  Did I hear you say they're -- when you say in essence they're the same, that means they're different but -- or they're actually the same?


MS. RICHARDSON:  They're the same.  They're just used for different contexts.


MR. SHEPHERD:  The number is going to be identical.


MS. RICHARDSON:  Yes, the numbers will be identical.


MR. SHEPHERD:  Thank you.


MR. BISHOP:  Okay.  Thank you.  So the second question I want to ask you relates to the same IR, and it goes back to incremental costs.  I just want it further explore how it is that you plan on tracking incremental costs.


So presuming that both the Orillia and PDI acquisitions happen simultaneously, you are going to incur incremental costs as a result of both.  Correct?


MS. RICHARDSON:  Hmm-hmm.


MR. BISHOP:  So what I am curious to know is how you will be able to pull out from the incremental cost bucket that is created the costs that are specific to the PDI merge and those that are specific to the Orillia merge.


MS. RICHARDSON:  So the type of costs that we expect to incur incrementally are ones that are related directly to serving the assets of each utility.


So Hydro One -- for all of our work programs we have a process that we use where our people who are working directly on the assets track their time and material to the cost and we have a charge-out rate.


So anybody who does work on the Orillia assets or on the Peterborough assets would track the time and materials accordingly.


MR. BISHOP:  Okay.  So you will be able to do some -- like, and that will facilitate direct assignment?


MS. RICHARDSON:  Yes.  Separate cost centres would be set up for each one.


MR. BISHOP:  Okay.  So one of the things that you had mentioned like an example of an incremental cost that you provided was HR costs as an example.


MS. RICHARDSON:  That would have been a non-incremental cost.


MR. BISHOP:  That's a shared cost?


MS. RICHARDSON:  Yes.


MR. BISHOP:  Okay, okay.  Very good.  Okay.  So that makes sense.  So just to confirm, you do have a fairly sound methodology for correctly allocating incremental costs incurred to the correct utility?


MS. RICHARDSON:  That would be for tracking of the cost.  So those are true tracked costs.  It is the allocation would be done for the shared costs, which is done through the cost allocation model.


MR. BISHOP:  Okay.


MS. GIRVAN:  Andrew, could I just interject?


MR. BISHOP:  Of course.


MS. GIRVAN:  So in year 11 your "residual cost" -- I am just trying to get my head around this -- will also include rate base for those particular jurisdictions?


MS. RICHARDSON:  Correct.


MS. GIRVAN:  Okay, thank you.


MR. BISHOP:  Okay.  So the last question I have on this IR relates to the -- I am going to try to explain this, and hopefully it comes out right -- is the actual base line over which you determine incremental costs have been incurred, right?


So as an example let's say that -- actually, you know what?  You have already answered this question, so don't worry about it.  I understand.  So thank you.


Okay.  That is it for that particular IR.  The next one that I just have a quick follow-up on is IR 10 in the Orillia proceeding and IR 49 in the PDI.  Again, both IRs are the same, generally speaking, and the responses you provided to both as well are the same.


I am not going to ask you a question specifically about this IR.  You have already provided some information on your perspective on what we originally asked and your discussion with SEC yesterday.


But what I want to follow up on is this.  It is what I would call a tangential link.  So is your determination that customers of PDI and OPDC will not be harmed by the acquisitions dependent on the customers of the current PDI and Orillia service territories being placed into new -- newly formed acquired rate classes?


So is it dependent?  Certainly the consolidation handbook allows for that, the creation of new rate classes, and we believe that the creation of new rate classes is necessary to ensure that we're identifying the specific costs to serve.

So yes, I would say that the creation of new rate classes will best achieve the Board's goal of ensuring that we charge just the cost to serve to those customers.

MR. SHEPHERD:  You don't have a rate class for any of the customers where you could put them directly into an existing rate class and the no-harm test would be met, right?  Because in each case, if you put them into an existing rate class, their rates would go up.  Is that right?

MR. ANDRE:  So we haven't -- we haven't done the -- we haven't looked at what it would look like putting them in the UR residential and the UR general service classes.  But as I indicated yesterday, even the -- you know, there's things with respect to the minimum system and the PLCC adjustments that would drive differences between the allocation to residential and general service.

And our minimum system and PLCC adjustments are different than for the acquired, so that would be one contributor.  And I think I also mentioned yesterday that even though the density factors that are used for those classes attempt to better identify the costs associated with the urbans, there is still some element of averaging across the province in developing those UR rates.

So we think that creating a separate class is the best way to ensure --


MR. SHEPHERD:  I wasn't asking you whether it is the best way.  The question you were asked by Mr. Bishop was, is your argument in favour of the no-harm test dependent on creating new classes.

I think the answer is yes, because you don't have a class now that you could put them in and meet the no-harm test.  Is that right?

MR. ANDRE:  So if the question is, is it the no-harm test dependent?  No, absolutely not.

The no-harm test relies on the fact that the total revenue that you are going to be collecting from the combined Hydro One and acquired classes will be less than the revenue that would be required from those classes individually.

So from my standpoint, the no harm relies on the fact you are going to be collecting less revenue.  The details of the allocation of costs to those classes and how you allocate those costs, you will have to come up with a method for either creating new rate classes, whatever the cost allocation looks like, you will have to come up with a method that fairly distributes those savings and revenue requirement that we know are there, that it distributes that between the legacy and acquired classes.

So if you are referring to the no-harm test, then my answer would be no, it isn't dependent.

MR. SHEPHERD:  So now I am confused.  If you don't have a new class, what class do you put these acquired customers into that their rates won't go up?  Because the Board has been clear; if you harm those customers, you breach the test.

So if their rates go up more than they would under status quo, you breach the test.

So do you have a class you can put them into?

MR. ANDRE:  Yes.  Per the Board's rate handbook, they allow for and anticipate and actually, yeah, anticipate that there might be a need to create new rate classes.

MR. SHEPHERD:  We are passing each other.

MR. ANDRE:  Yes.

MR. SHEPHERD:  The question was, if you don't have new rate classes, can you put them into an existing rate class and meet the no-harm test?  I think your answer is no.

MR. ANDRE:  Putting them -- we think putting them into an existing rate class that doesn't appropriately -- that allocates average costs to the acquired customers would be inappropriate.

And specifically, we haven't looked at what that result would look like if you try to merge them into the existing urban density classes.  You might need to change the density factors as a result of merging them in there, and perhaps as a result of changing the density factors, you would achieve, you know, lower rates.

So I don't think that is a scenario that we've looked at because we don't think it is the most appropriate scenario.

MR. SHEPHERD:  Thank you.  Sorry.

MR. BISHOP:  No, it's helpful.  I am going to pass things over to Jane.
Examination by Ms. Scott:


MS. SCOTT:  Thank you.  Just following up on that, you talked about the minimum system being different for the acquired classes.  Is that because it was different for Peterborough and Orillia, or -- maybe just explain that a bit more.

MR. ANDRE:  Yes.  So the Hydro One has done a specific minimum system study to define its minimum system and PLCC adjustments specific to Hydro One, and my understanding is that those are different -- that both PDI and Orillia are using the standard Board inputs with respect to PLCC adjustments, whereas Hydro One has a Hydro One-specific number.

MS. SCOTT:  So when you ran the cost allocation model for year 11 for the acquired classes, you continued to use the Board minimum system?  Or did you adopt --


MR. ANDRE:  No, we adopted Hydro One's model.  We used the Hydro One model, which in part drives the need for -- which in par drives that misallocation of assets to the different acquired classes.

MR. SHEPHERD:  Is there a technical explanation of this difference somewhere in the evidence?  Like, you made a general statement that your numbers are different than theirs, and I sort of understand that conceptually.  But is there a technical description that says we changed this to this, and this is the impact?

MR. ANDRE:  The difference between the PLCC adjustments, I know we discussed that in the distribution application.  In the context of this application, I don't believe we have talked about that.

But it would be visible -- we haven't talked about the difference.  The fact we are using Hydro One's numbers is implicit in the use of Hydro One's cost allocation model.

MR. SHEPHERD:  Is it possible for you to undertake to provide an explanation of the nature of that difference, and the impact applied to this process?  Or if it's already in the evidence in distribution, just tell us where it is.

MR. ANDRE:  The discussion of the difference is in the distribution application.  In terms of the impact of that difference, I don't believe there's been any analysis done on the impact.

MR. SHEPHERD:  Can you do that for us and provide it?  You've said it has an impact, so can you tell us what the impact is?  You can do it by undertaking, that's fine.

MR. ANDRE:  Yeah, I suppose we could.

MR. MILLAR:  That is JT2.1.
UNDERTAKING NO. JT2.1:  TO PROVIDE AN EXPLANATION OF THE NATURE OF THE DIFFERENCE BETWEEN THE BOARD'S MODEL AND HYDRO ONE'S COST ALLOCATION MODEL, AND THE IMPACT APPLIED TO THIS PROCESS; IF IN EVIDENCE, TO PROVIDE THE REFERENCE


MS. SCOTT:  Then I wanted to follow up on Mr. Shepherd's questions on the adjustment factor.  If we could pull up Staff's interrogatory 48, but it is the spreadsheet that is attached to that, so it is 48-02.

MS. RICHARDSON:  Is it under Peterborough?

MS. SCOTT:  Peterborough, yes, sorry.  It is using the Peterborough sample, but it is a general question.

MR. ANDRE:  Yes, I'm there.

MS. SCOTT:  Wait until it gets on the screen.  The screen is frozen.  Oh, dear.  Well, I will start.

MR. ANDRE:  I'm there.

MS. SCOTT:  You've got it.  So tab 5, it talks about the difference between -- this is where the, you know, the assets for Peterborough compared to the pre-adjusted assets for that group of US of A accounts.

MR. ANDRE:  Yes, that's correct.

MS. SCOTT:  So the pre-adjusted ones, am I correct that if you ran the cost allocation model in the usual way with the usual allocators, that is what would be assigned to the Peterborough classes?

MR. ANDRE:  Yes.  So the last four columns in the spreadsheet right at the top, that's correct.  So that would be allocating, you know, one customer -- and you will know that about 55 percent of costs within the model are allocated based on relative number of customers.  And at least for Hydro One, about 55 percent are allocated based on number of customers and about 45 percent based on relative peaks, coincident and non-coincident depending on what the allocation factor is.

So yes, that would be saying if one customer in the acquired class attracted exactly the same costs as one customer for Hydro One's average service territory, if one serving one peak of megawatt -- one megawatt of peak in the acquired class attracted exactly the same costs as the average -- so the average Hydro One cost.  So it doesn't account for any density factors, or anything...

MS. SCOTT:  That was my next question.  So you haven't, in that case, made a density adjustment at that point?

MR. ANDRE:  No, that's correct.

MS. SCOTT:  So the adjustment factor you used is the percentage of the known assets over this allocation assets?

MR. ANDRE:  Yes, yes.  So for example for the residential class at 31.8 percent is the fact that, you know, the amounts based on what is actually required to serve PDI is 93.3 million, which is in the eighth column from the end, as compared to 293.4 million, which is what the model would allocate based on an average Hydro One entire service territory cost.

MS. SCOTT:  Right.  But if you did take the density into account, it presumably would allocate less assets to the Peterborough class, then?

MR. ANDRE:  Absolutely.  Even though the factors that are used for the urban classes are called density factors, if you go back to it, you looked at more density, you recall density factors, but we look at the total costs and the relative number of poles and transformers and a range of costs, including costs that are shared across the province, and said, what adjustment is required for
these -- for the different densities that we serve in order to arrive at an appropriate cost.

So even though they're called density factors, they're largely -- you know, they're an adjustment factor that captures other things beside density.

We use samples, we looked at sample areas that had typical urban densities, typical medium densities, and then looked at the cost -- all of the costs to serve those areas.

So, yes, this is without the density -- if we could develop -- and I guess what I am telling you is the density factor would look very much like an adjustment factor if applied to the acquired classes.

MS. SCOTT:  Right.  But to compare apples to apples, shouldn't the basic allocation to the Peterborough class include a density adjustment before you calculate the adjustment factor?

Like, I would -- which would lower the adjustment factor, if I am correct.

MR. ANDRE:  Yes, you're right.  It would lower the adjustment factor.  But -- so you are talking about a two-step process, come up with some density factor, and then over and above that come up with a separate adjustment factor.  This combines the two.

I mean, it essentially says -- you know, because the density factors would be trying to say, what density adjustment do we need in order to accurately reflect the assets required to serve that area.

This is very similar.  It takes that into account, looking at, you know, the actual assets required to serve the PDI area.  So they're very similar.

MS. SCOTT:  Okay, thank you.

MR. ANDRE:  Different name.

MS. SCOTT:  I am not sure I'm going to be able to do this without looking at the spreadsheet, but further down on that tab 5 are the bulk assets.  And maybe just, can you define what the bulk assets are for me?

MR. ANDRE:  So the bulk assets are the higher-voltage, or the assets typically above 13.2 kV that are used to serve either large customers connected to our bulk system or LDCs.

So all embedded LDCs get their load from the bulk system and large customers gets their load from the bulk system, so the bulk system is assets above 13.2 kV.

MS. SCOTT:  So the total -- and there is another tab that shows the total amount that Peterborough pays to Hydro One -- is that in low voltage?  Or is that -- do they actually pay that to the IESO but it happens to come through your system?  I am just trying to --


MR. ANDRE:  Yeah, no, I can explain that.

MS. SCOTT:  Yes.

MR. ANDRE:  So the bulk system that I just described for you, so for Hydro One we developed a specific charge for large customers and embedded LDCs to make use of those assets greater than 13.2.  That is a distribution charge.

That distribution charge when we levy that to the embedded distributor, they call that an LD charge.  So they take our cost for use of our assets greater than 13.2 and then they recover that from their customers, using an LD charge.  So they --


MS. SCOTT:  How --


MR. ANDRE:  -- change the name on it, but it is the same thing.

MS. SCOTT:  Right.  So if you look at that tab, the tab that has the total in there at the -- the total dollars.

MR. ANDRE:  Ah, okay.  So if you're -- yes, so that is tab 4.

MS. SCOTT:  Yes.

MR. ANDRE:  That item was -- so that information was used -- you will recall that I said that one of the adjustments we made to the model is a recognition of the fact that not all of the load in PDI in this case is served through upstream assets.

So before we weren't making that correction.  We were just saying, if you have this many local assets here's the percentage of upstream assets that you should be allocated.

What you are --


MS. SCOTT:  That number is not the same as the low-voltage number that you show, for example, in SEC 29.  That is maybe what was confusing me.

MR. ANDRE:  Yes.  This is --


MS. SCOTT:  I don't, unfortunately -- this is Orillia.

MR. ANDRE:  Yes.  These are our TSR charges, so these aren't ST charges, so what you see in tab 4 are transmission charges that Hydro One applies --


MS. SCOTT:  Pays to?

MR. ANDRE:  We would pay these -- we collect it from PDI and then pay it to the IESO.  These are transmission charges.

MS. SCOTT:  Right.

MR. ANDRE:  So different than the sub-transmission charges.

MS. SCOTT:  Right.  So in that tab you do an allocation of the bulk assets.  Did you look at the revenue that would result from the allocation of those bulk assets compared to the revenue that they were paying?

MR. ANDRE:  Okay.  So that is separate from retail transmission service rates.

MS. SCOTT:  Yes.

MR. ANDRE:  Yes.  So the numbers that we've assumed, we know what PDI paid in sub-transmission charges or what they call LD charges --


MS. SCOTT:  Right.

MR. ANDRE:  -- what they actually paid in '18, which I think for them was around a million dollars.

MS. SCOTT:  1.411 or something like that.

MR. ANDRE:  So it is a million dollars is what we know they paid in '18.  The 1.4 is when we escalate that to year ten or year 1, rather.

MS. SCOTT:  Okay.  But did you compare that to what you've now allocated to them and calculated a revenue that you would be --


MR. ANDRE:  So --


MR. SCOTT:  -- collecting as a result of the allocation of those assets?

MR. ANDRE:  Yeah.  So, no, we haven't done that calculation.  It wouldn't be -- it wouldn't necessarily be that easy to do now, because those upstream charges are part of the shared costs that get allocated across all rate classes.  So all rate classes -- so it is no longer the ST, so now they are our retail customer, and all retail customers pay a share of those high-voltage greater than 13.2 kV assets.  They pay a share of that.

But it is not specifically broken out within the model.  The model only breaks out the ST costs associated with serving embedded LDCs and large customers.

Once we acquire these, you know, or once we harmonize them, these are no longer an embedded or an acquired customer.  They're now part of our retail mix, and the retail attract a certain amount of charges.  So it could be estimated, Ms. Scott, but we haven't done that in here.

MS. SCOTT:  So the bulk asset values that you identify here, are they directly allocated then to the -- or they just flow through the model?

MR. ANDRE:  Yeah, they flow through the model.  So what they -- so once, you know, the rates are harmonized and become another rate class within Hydro One's structure, the allocation of those embedded costs is simply another set of costs that is allocated by the model.

MS. SCOTT:  Okay.  It just flows through as --


MR. ANDRE:  It flows through; that's right.

MS. SCOTT:  Okay.  My last part of my question is on the revenue-to-cost ratios, and I think you talked a bit about that yesterday.  I think it was in part 4 of this IR, about the goalposts and how you would use the revenue-to-cost ratios to try and stay within the goalposts.

But if the -- and I think the proposed Peterborough ratios are like .85 for residential, .8 for GS less than 50.  Is that -- from that IR?

MR. ANDRE:  Sorry, the revenue-to-cost ratios that you are questioning, the proposed ones, yes, those are the Board-approved revenue-to-cost ratios for those rate classes --


MS. SCOTT:  Because you sort of set them at the lower limit of the allowed revenue-to-cost ratios?

MR. ANDRE:  So we followed the process that we would follow for any rate class that we have, which would be if they're below the range we move them to within the range.  That is the process we follow --


MS. SCOTT:  Right.

MR. ANDRE:  -- follow for any of our rate classes.

MS. SCOTT:  But I guess I -- to me there is sort of two then -- you will have two conflicting things that if you have other classes within Hydro One who are above the range and you need to lower them and as a result you need to increase -- it is already within the range, but you need to increase other classes that are low, is that not in conflict with your trying to keep it within the goalpost?

MR. ANDRE:  I'm not sure -- so if we have rate classes that are above the range, our normal process would be, we would --


MS. SCOTT:  Or even within the range but high and you are trying to bring them to one, bring them closer to one.

MR. ANDRE:  Right.  So in none of our -- certainly the proposal for going forward is to stay within the Board's approved ranges.  There is no plan to bring revenue-to-cost ratios closer to one as part of this application.

MS. SCOTT:  And so maybe I can be direct.  So maybe artificially keep the acquired revenue-to-cost ratios lower than they might otherwise have been if you had been working towards bringing everybody to one?

MR. ANDRE:  If you brought everybody to one, there's a number of rate classes that would see the revenue-to-cost ratios go up, and a number of rate classes that would see the revenue-to-cost -- so the plan you know, to come closer to one, I think the Board had indicated that that is the kind of thing -- I don't have the reference for the policy document for you, but I am sure you could find it.

The notion is as you make improvements, as you gain confidence and you refine the model so that it more accurately reflects those costs for all of your rate classes, then at some point there is a, you know, they concede that you could move closer to one.

But until the cost allocation model has those refinements built in, the range is acceptable to the Board. As long as all classes are within the range, that's considered acceptable and that is our proposal.

MR. SHEPHERD:  In the last eight years or so that you have been using that particular cost allocation model, have you not been making improvements to it, to the one that you use?

MR. ANDRE:  We have.  The introduction of the density factors is an example of an improvement that was made that we used as the basis for bringing the urban revenue-to-cost ratios down.  They used to be in the range of 112, 113 and when we made that improvement to the density factors, which we believed more accurately allocated costs to the urban classes, we brought the revenue-to-cost ratio -- we asked for approval to bring it down to 110 and we were given that approval.

So yes, we have brought it down to 110 but no suggestion that it would ever go to one.

MR. SHEPHERD:  Well, so that's sort of where I am going.  That is not the only improvement you made to the model, right?  You made a bunch of little improvements along the way.  It's not static.

MR. ANDRE:  It's not static.  But if you look at a bunch of the factors, the service factors that are in there, a lot of them are still what I would consider fairly, you know, gross.  I mean they haven't been refined.

And more importantly for a utility like Hydro One where, you know, a rural class can be a rural customer in northern Ontario that maybe ten kilometres from the nearest station versus a rural customer in southern Ontario that may only be one or two kilometres, they're paying the same rate.

So I think having a wide revenue-to-cost ratio range is especially appropriate for Hydro One, given the wide nature of our service territory.

MR. SHEPHERD:  Why would that matter?  They're still going to pay the same rate no matter what the revenue-to-cost ratio is, aren't they?

MR. ANDRE:  But if you bring it to one, you're saying we absolutely know the exact know the exact cost of serving that class, and I don't think we can say that accurately.  That is the whole purpose -- the Board has had ranges from the initial set up of the rate design construct.  They have always accepted ranges and they have said that yes, they can narrow over time.  But a range is considered an acceptable proxy for what it costs to serve a class.

MR. SHEPHERD:  Quite understood.  I guess we're talking about a time frame to 2030, and you seem to be assuming that there's going to be no narrowing of revenue-to-cost ratios in the next decade, and that seems strange.

MR. ANDRE:  Forecasting anything ten years out, Mr. Shepherd, is a challenge.  Forecasting the inputs of the cost allocation model ten years out is a challenge.  Forecasting what the Board's policies will be, I mean we both participated in a consultation recently that indicated that who knows what changes are coming.

So I think yes, I agree with you.  It is difficult to forecast what things will be ten years out.

I would add one thing, though.  I mean, even if you went to a revenue-to-cost ratio of one, right, what we have shown is that the allocated costs are within that band.

So even the allocated costs are within that band.  So if you moved revenue-to-cost ratios to one, if the Board deemed that was appropriate for the acquired classes, you would still be within the range.

You would just be giving more of the savings to legacy customers versus the acquired customers, but the fact that the allocated costs are within the range means even at a revenue-to-cost ratio of one, there would be no harm to either the acquired or legacy classes.  It would just be a different sharing of that split.  As Mr. Shepherd said yesterday, where you land within that -- within those goalposts defines that split.

What we've done is follow the same approach that we have for all of our rate classes in terms of the revenue-to-cost ratio treatment.

MS. SCOTT:  Just to follow up on Mr. Shepherd's question, are you using the smart meter data now in the cost allocation model for the load shapes?

MR. ANDRE:  Yes, we do.

MS. SCOTT:  So that is another improvement in the methodology.  Okay.

MR. SHEPHERD:  You've now managed to confuse me, which admittedly cost allocation does confuse me.

If the allocated costs are between the goalposts is what you're saying, right?

MR. ANDRE:  Hmm-hmm.

MR. SHEPHERD:  But then -- and you are using, let's say, an 80 percent revenue-to-cost ratio, that means that 20 percent of the costs that are fairly allocated to that class are actually being paid by other classes, right?

I am not suggesting it is a subsidy.  It is just
the --


MR. ANDRE:  The construct.

MR. SHEPHERD:  -- the construct.  If you move them up to a revenue-to-cost ratio of one, why are you saying that that's still within the goalposts?

MR. ANDRE:  Because the revenue you would collect -- if you move them to a revenue-to-cost ratio of one, the revenue you would end up collecting from the acquired customers would still be between -- it would be more than the residual and less than the status quo.

MR. SHEPHERD:  Well, then why would you set the revenue-to-cost ratio at eighty in the first place?  The normal process is whatever the costs are, if they're within the range, you leave it.  Right?

MR. ANDRE:  No.  The normal process is the cost allocation model comes up with an allocated cost, compares that to the revenue collected at current rates, and comes up with a revenue-to-cost ratio.  You live with those revenue-to-cost ratios unless any of them are outside the range, in which case you make adjustments.

MR. SHEPHERD:  But you don't have a revenue at current rates here because you have an artificially reduced revenue for ten years.  You're saying that special revenue level, you are just going to bring that up to eighty?

MR. ANDRE:  We're going to --


MR. SHEPHERD:  Regardless of the costs?

MR. ANDRE:  We are going to follow the -- I mean, we're following the Board's cost allocation model which I just described.  Yes, we'd take those current rates and remember it will be the rates in year ten.  So we're looking at year 11, so it would be the rates in year ten which would be the 2019 rates frozen for five years, and then IRM adjusted for the remaining five years.

So yes, those would be the going in year ten rates, which would then -- you would look at how much revenue is collected from those rates and make -- use the model to say to what extent do those need to be adjusted.  What is the revenue-to-cost ratio that comes out of using year ten rates at the year 11 forecast, and comparing that to the allocated costs.  That is the normal process for all rate classes.

We are getting -- I mean, you know, used cost causation use the cost allocation principle.  So that is what we're attempting to do, we're using the same principles.

MR. SHEPHERD:  Right.  I understand, thanks.

MS. SCOTT:  That's all of my questions, thank you.

MR. MILLAR:  Thank you, Ms. Scott.  I think that is all of the questions from Staff.

Mr. Ladanyi, are you prepared to go next?

MR. LADANYI:  Yes, I am.  Can you hear me?
Examination by Mr. Ladanyi:


MR. LADANYI:  Good morning, panel.  I am Tom Ladanyi. I represent Energy Probe.  I am not a lawyer.  I am a retired engineering accountant, and I have been in the utilities industry for 45 years.

So I handed out an exhibit this morning.  Maybe we should have that marked.  I may refer to it, or not.  It is actually referred to in the response to Orillia SEC Energy Probe interrogatory Number 9.  So Hydro One refers to it and it is a response, and I thought I would follow up on it.  Can we have an exhibit number for that?

MR. MILLAR:  It is KT2.1 and it is an attachment from the file EB-2017-0320.
EXHIBIT NO. KT2.1:  ATTACHMENT FROM FILE EB-2017-0320


MR. LADANYI:  Thank you, Mr. Millar.

So I would like to follow up on something that was referred to right at the start of the hearing today.  Can you turn to SEC number 23 in Peterborough?

By the way, my intention is to do Peterborough first to allow the gentleman from Peterborough to go home earlier, and then I will deal with Orillia.  So you gentlemen from Orillia can take a rest for probably half an hour at least.

So I am looking at the spreadsheets, attachment number 1, which is a statement of capital expenditures.  Yes.  There it is.  And I just want to explore with you how much we should rely on these numbers.  And I have been in this business for a long time.  When I see a spreadsheet with a lot of similar numbers from year to year, for example buildings -- there is $62,000 for a number of years from 2020 to 2030.  So I thought, what could they possibly be building each year for 62,000.  Is it like a shed you build every year, or is this just like an average?  What is this number?

MR. JOHN STEPHENSON:  Well, it is $62,000 on $7.9 million of expenditure in 2020, just to put it into context.  Clearly it's not building a building, but we also have many properties and buildings that have a certain level of expenditure that would be capitalized associated with those, and I would expect that that is just the historical run rate taken out over the projection as an expectation for that very small expense to carry on, which I don't think would be unreasonable in a projection.

MR. LADANYI:  So actually, I did the calculation just a few minutes ago and I figured out that that is actually the average of the previous years from -- more or less, from --


MR. JOHN STEPHENSON:  Right.

MR. LADANYI:  -- 2013 to 2019.  So if you divide that by number of years you get about 61,000-something, so that is just an average.  So that is how you came up with that number?  So that is not a specific expenditure.

So when you look at the other distribution stations, for example, land, you have nothing for land.  So you are not planning to buy any land.  Good.

Distribution stations.  Can you tell me roughly how would you have done that?  So we know that buildings are an average of the previous expenditures.  Is distribution stations specific or is this like an average that is escalating?

MR. JOHN STEPHENSON:  Well, as I alluded to a little bit yesterday, there is some level of experience from the past, obviously in 2015 where we did a distribution station, not a refurbishment, but a replacement or new.  And we would obviously be looking at that history of what we think the spend is to do similar work even in a major refurbishment, and that's built up based on that experience going forward, knowing that we're going to be doing pretty much similar work in each distribution station in a major way over the course of the projection.

So there is a historical basis to it, and obviously there is a level of escalation that is in the assumptions, that's in the range of two to two-and-a-half percent. for a price escalation over the point years in the projection.

MR. LADANYI:  It's kind of like a rule of thumb, what feels right type of an estimate?

MR. JOHN STEPHENSON:  Well, it's a little bit more than a rule of thumb, in the context of a projection.  It is based on our historical experience with the level of price escalation over the ten years, which is, I think, reasonable and based on the assumptions.

MR. LADANYI:  Some of the utilities before the Board recently were asking for major expenditures for road relocation, highway widening, and so on.  So you have nothing in here for that, do you?

MR. JOHN STEPHENSON:  I would not be able to speak to whether we have that in here or not without going back into the details.

MR. LADANYI:  Okay.  We're also recently -- I don't know if you have been following it.  OEB had a consultative on distributed energy resource and the costs the utilities might incur and so on.  And we learned that it might cost a lot of money for utilities to accommodate distributed energy resources.  There might be some benefits, of course.  You don't have anything here, for example vehicle charging stations or accommodating people with rooftop solar or anything like that.

MR. JOHN STEPHENSON:  First of all, I haven't followed that proceeding, and I wouldn't have a lot of knowledge of it, other than I know the general industry concern about the impact of distributed energy resources on, you know, existing plant.

To the best of my knowledge, we don't have in this projection any level of significant spend for EV stations or anything related to the causality of distributed generation.

MR. LADANYI:  There was a little talk yesterday, and I think several people mentioned, what happens if there is an ice storm and major damage?  Obviously you can't forecast that.  But wouldn't Peterborough go for an ICM if there was a major ice storm?  Wouldn't it ask for an ICM?

MR. JOHN STEPHENSON:  I don't know what we would do with respect to responding to the impacts of a particular event on our service territory, the capital or the operating cost of it, other than, obviously we would respond appropriately and do the best we can.

With respect to rates and recovery or anything else, we would consider that when we got to that point.

MR. SHEPHERD:  I want to just follow up on this particular table.  If I understood you correctly yesterday, normally when somebody -- when an LDC comes in with a forecast like this, they have a distribution system plan or something like that behind it, a narrative that explains where these numbers came from.

You have nothing like that?

MR. JOHN STEPHENSON:  I think I said yesterday that I would look to see what we have supporting the projection beyond what I put on the record in terms of the approach in putting these numbers together.

MR. SHEPHERD:  All right.  Thanks.

MR. JOHN STEPHENSON:  And we do not have a distribution system plan, given the circumstances that we are in.

MR. SHEPHERD:  Of course.

MR. LADANYI:  So these, let's say transactions between Hydro One and Peterborough, are kind of complicated for me.  And I am trying to understand them.  So if you can turn to Energy Probe Interrogatory No. 2.  This is -- again we're on Peterborough, and to your response.

Maybe I can go to -- well, let me ask you first.  What is 1937680 Ontario Inc.?  And have you actually sold your assets to this entity yet?  Because in response 5 you seem to say that some transaction has taken place, and I am still trying to have clear in my mind what transaction has taken place.  Who owns Peterborough's assets right now?

MR. JOHN STEPHENSON:  You have multiple questions there, so let's see if -- let me see if I can break down what I have heard, and you can tell me whether it addresses what you are looking for.

I think your first question was with respect to the numbered company, and I would defer to Hydro One, since they are the acquirer.

MS. RICHARDSON:  The numbered company 1937680 is a subsidiary of Hydro One Inc., which will for a shorter period of time -- will own the assets of Peterborough until they're fully integrated into Networks.

MR. LADANYI:  So this numbered company, 1937680, now own the assets of Peterborough?  It does not?  So Peterborough --


MS. RICHARDSON:  No.  If you give us approval today they will shortly.

[Laughter]

MR. LADANYI:  Okay.  So I am a little bit confused.  If you turn to Energy Probe number 5C, answer C, it says "this transaction was completed on a commercial basis".

What does that mean?  What transaction was completed on a commercial basis?

MS. RICHARDSON:  That was the asset purchase agreement.  I think we tried to correct that later on.  We realized there is a mistake in how we worded it in the filing, but it was actually the commercial basis, the asset purchase agreement.  Hydro One's agreement to purchase Peterborough.

MR. LADANYI:  So you have the agreement, which is like a document, but you haven't actually executed it.  Is that what you are saying?

MS. RICHARDSON:  We haven't actually purchased the utility, because we are seeking OEB approval to do that.

MR. LADANYI:  Sure.  But something is done in the past here.  Like, it was completed.  What is the was completed (sic)?

MS. RICHARDSON:  The terms of the negotiation.

MR. KING:  So it is a legal question.  The asset purchase agreement has been signed, obviously.  It is conditional on -- there are a number of conditions, one of which is receiving Board approval.  So the transaction cannot close and the assets cannot be transferred until such time as all conditions, including the OEB approval, is received.  So the agreement was completed on a commercial basis.  I think that is probably the better word.

MR. LADANYI:  I'm not a lawyer.  I will have to ask some legal help to explain to me.  Mr. Shepherd is nodding his approval of your transaction.

MR. SHEPHERD:  Sorry?

[Laughter]

MS. GIRVAN:  It's on the transcript.

MR. LADANYI:  Yes.

[Laughter]

MR. LADANYI:  Let it be noted that Mr. Shepherd was nodding positively.

Okay.  Let's go then on to Energy Probe number 5, and there I wanted to know about the clearance from the competition -- commissioner of competition, and in part E, and you had a response, clearance from the commissioner of competition was obtained November 14th, 2018, and you direct me to Exhibit I, tab 1, which is Board Staff number 31, attachment 1.

And then I looked it up.  So can we have the attachment 1 to Board Staff 31, please, which is a letter from the bureau of -- Competition Bureau of Canada.  It is Exhibit I, tab 1, 31, attachment 1, page 1.  And then page 2 subsequently.

Yes, there it is.  So if I read it right -- and maybe you can correct me.  Maybe it is a question for Mr. King.

It says here you were asking for something called an advanced ruling certificate.  What is an advanced ruling certificate?

MR. KING:  I am not a competition lawyer and should probably be the last person speaking about advanced ruling certificates.  But my understanding is that transactions of a certain commercial value in the same industry sector requires clearance or approval, if you will, from the federal Competition Bureau, and that is what this is.

MR. LADANYI:  Then the second paragraph says:
"It would not be appropriate to issue an ARC as requested by the parties."

Can you explain to me -- so you didn't actually get this advanced ruling certificate?

MR. KING:  The next paragraph down from the one that you quoted at the top of page 2 --


MR. LADANYI:  Right.

MR. KING:  -- and I think the conclusion of the commissioner was that the requirement to obtain the ARC was waived as an obligation, so no clearance was required.

MR. LADANYI:  So you actually --


MR. KING:  That's the way I read it.

MR. LADANYI:  So there will never be a certificate, is that right?

MR. KING:  Right.

MR. LADANYI:  So the answer isn't quite correct, but I will accept it.

Can we go to Energy Probe number 3?  So what I understand is that Hydro One is essentially offering or guaranteeing a $1.8 million credit to the ratepayers, and my question was really -- and they were planning to finance this through, I would say, earnings of Peterborough.

My question was really suppose the earnings of Peterborough are not adequate for this, and Hydro One then seems to say that shareholders will pay for this.

So just my clarifying question is how would the OEB know that the shareholders would be paying for this?  What evidence could the OEB rely on?

MS. RICHARDSON:  So basically we'll have the rates determined for both for legacy customers and for Peterborough, and we will not -- we will give back that money to the Peterborough customers regardless of what our costs come in.

So we're not going to be seeking additional rate funding for it, because the rates will already be predetermined for that five-year period.

MR. SHEPHERD:  Let me just follow up.  The ESM is not connected in any way to actual earnings, right?

MS. RICHARDSON:  That's correct.  It's on projected.

MR. SHEPHERD:  Thanks.

MR. LADANYI:  If I can then move on to Energy Probe number 6, there in part B I asked for supporting information regarding OM&A savings in each year including the following details:  staff reductions in end of year head count and annual full time equivalents, severance payments, explanation of reasons why staff reductions are possible, and charges for services by Hydro One affiliates, which obviously would have to appear in the OM&A.

And I was directed to look up Board Staff 17, part A, and VECC 7, part E.  And I went there and I couldn't find it.  But maybe you can take me there and explain to me where those are provided in those responses.

MR. FALTOUS:  So I can clarify.  Board Staff 17, part A, really just provides the status quo forecast for OM&A as well as the Hydro One forecast, and demonstrates what the OM&A savings are.

Then if you go to Exhibit I, tab 4, schedule 7, which is VECC 7, part E, I think the explanation is here, which is when we looked at the costs needed to plan for the OM&A for PDI system, we looked at the incremental costs, so the additional costs that would be needed, and that is how we developed the costs.

We did not break it down by, you know, individual headcounts, severance payments.  So this level of detail, as is stated in response to part E, all of the costs are captured, but that level of breakout is not available.

MR. SHEPHERD:  Can I just follow up on that?  So these four items as examples in part B, are you saying you haven't forecast any of those, or you don't feel the forecasts are relevant?

MR. FALTOUS:  We haven't forecasted savings associated with those items specifically.  The savings were derived based on the difference between the status quo forecast and Hydro One's forecast of the additional costs to serve PDI.

And so the additional costs is encompassing of all costs, but it cannot be broken down at this level of how much it is specifically for these items.

MR. SHEPHERD:  These aren't primarily cost items.  These are primarily -- like for example, Hydro One is going to charge PDI for some things, right?  You know that.  Have you forecast those amounts?

MR. FALTOUS:  For -- no.

MR. SHEPHERD:  And similarly --


MR. FALTOUS:  Sorry, to clarify, I actually don't know.

MS. RICHARDSON:  Sorry.  I was just -- are you talking about the affiliate relationship agreements?

MR. SHEPHERD:  Well, that's one example.

MS. RICHARDSON:  Yes.  So those would be determined once we get approval from the Energy Board.  We would create them the same way we created them for many other utilities.

MR. SHEPHERD:  I am asking whether there is a forecast or not.

MS. RICHARDSON:  The costs...

MR. SHEPHERD:  Your colleague says he doesn't know.

MS. RICHARDSON:  I don't have a number forecast, no.

MR. SHEPHERD:  I didn't ask whether you have it.  I asked whether there is one.

MS. RICHARDSON:  No.

MR. SHEPHERD:  There is not one?

MS. RICHARDSON:  No.

MR. SHEPHERD:  Okay.  Similarly the staff reductions, headcount and FTEs, that has not been forecast?  Because I thought I saw it actually somewhere.

MR. FALTOUS:  We do know what staff reductions will be, but we didn't forecast specific OM&A savings associated with those staff reductions.  Like the OM&A savings again are simply the difference between the Hydro One forecast and status quo.  We did not go line by line and say this many staff reductions equals this much savings, and that is what we're trying to clarify in this question.

MR. SHEPHERD:  How did the do the Hydro One forecast if you didn't calculate how much you are going to save from the reduced headcount?

MS. RICHARDSON:  Sorry, are we talking about during the deferral period, or after the deferral period?

MR. SHEPHERD:  During the deferral period.

MS. RICHARDSON:  So during the deferral period, we've said that there are no incremental costs.

So we expect that we will be redeploying different staff.  Some will remain as direct staff to serve Peterborough's assets.  Other staff will have the option to take on vacancy positions within Hydro One Networks overall, distribution company or transmission company, wherever they would like to go, whatever their skills would be.

MR. SHEPHERD:  They would be filling vacancies.

MS. RICHARDSON:  Vacancies, yes.

MR. SHEPHERD:  So they're not going to be incremental?

MS. RICHARDSON:  Yes.  They're filling vacancies that were in networks -- yes.

MR. FALTOUS:  To clarify, the incremental will be a subset of staff that will be needed to continue to serve the PDI territory.

MR. SHEPHERD:  And you have a plan for that, right

MR. FALTOUS:  So we have a number of staff that will be a complement to existing line staff that serve the area in order to also serve the PDI service territory.

MR. SHEPHERD:  The question was a real simple one.  Do you have a plan for that?

MR. FALTOUS:  I'm sorry, I am not clear on your question.  Can you please restate it --


MR. SHEPHERD:  Do you have a plan for staff reductions?  How do --


MR. FALTOUS:  So we have identified in evidence -- and actually, let me take you to it.  So let's go to -- let me take you to Exhibit A, tab 2, schedule 1.  And specifically on page 11, starting on page 11 of 24 and continuing on to page 12 of 24, it tells you exactly how many PDI staff will be added to Hydro One in order to complement the line staff and how many positions will ultimately be absorbed into vacancies within Hydro One.

MR. SHEPHERD:  Okay.  So that is your whole plan.  What is there is the whole plan?

MR. FALTOUS:  This is the plan for the staffing of PDI, correct.

MR. SHEPHERD:  Okay, thank you.

MR. FALTOUS:  Yes.

MR. LADANYI:  Thank you.  One of the references to your response was of course VECC number 7, and can you turn to page 3.  Page 3 of VECC 7.  It says -- it is called something, savings synergy category.  It is a table.

MR. FALTOUS:  Hmm-hmm.

MR. LADANYI:  Go down to page 3.  Yes.  There it is.  So when I look at this table, is this table represents the savings in different categories of expenditures, for example administration.  It says management, corporate governance, annual range.

So that looks to me like a staff reduction.  Is that a staff reduction?  Or not?  What would that be?

MR. FALTOUS:  So these are -- this is an attempt for us to provide some sort of a comparison within these different categories in terms of the savings.  I think to be clear, again, we did not develop the savings by these categories.  The savings are simply the difference between the Hydro One forecast and the status quo forecast for OM&A.

But in order to be -- you know, to try to be responsive to the IR, we tried to basically categorize as best we can some of PDI's costs and Hydro One's costs and the difference between the two within these categories.

So these savings are really just an attempt to categorize where the overall savings are coming from, but it is not -- it's not an actual calculation that was done, detailed calculation that shows, you know, by headcount or by -- for any of these departments exactly what the -- how the numbers are made up.  It was just a categorization of PDI's costs, an attempted categorization between the two utilities, and a comparison between them, to provide an expected range of savings.

MR. LADANYI:  These costs would be fully burdened costs with all the pension benefits, whatever, everything is in there?

MR. FALTOUS:  So again, I think when we looked at the Hydro One costs we looked at all additional costs that would be required for Hydro One to serve the territory.  So all costs, including the pension benefit, anything would have been included as well.

MR. LADANYI:  You are assuming roughly that Peterborough employees are paid roughly the same as Hydro One?  Or you don't know, in fact?

MR. FALTOUS:  So, I mean, I think what we've talked about is we are looking at -- we're not making assumptions around how much Peterborough employees are being paid.

I believe we are looking at Hydro One wage schedules and we're saying that there's a certain complement of staff that will be coming over, and we know what those wage schedules are.

MR. LADANYI:  So these are questions for Peterborough.  Do you have an average compensation per employee?  So we can perhaps ourselves work backwards through these numbers?

MR. JOHN STEPHENSON:  I don't have that information, no, I don't.  We don't --


MR. LADANYI:  Would 100,000 be right, or --


MR. JOHN STEPHENSON:  I don't even calculate it that way.  We don't have that number, no.

MR. LADANYI:  How many employees does Peterborough have --


MR. JOHN STEPHENSON:  I mean, you probably could do a calculation based on the number of employees in PDI to the overall OM&A or some level of that, but we don't do that.

MR. LADANYI:  I would like to do that.  How much is it?  How many employees do you have?

MR. JOHN STEPHENSON:  In the -- on the PDI side, the number of positions is around, as I recall, 62.

MR. SHEPHERD:  Can I just ask, when did you do a Form 2L?  When was the last time?  That's the one where you set out the headcount and the compensation.  2L, right?

MR. JOHN STEPHENSON:  I don't know what Form 2L is, Mr. Shepherd --


MR. SHEPHERD:  When you do a cost-of-service application --


MR. JOHN STEPHENSON:  Okay.  We did a cost-of-service application in 2013.

MR. SHEPHERD:  Many utilities keep it up-to-date every year.

MR. JOHN STEPHENSON:  Hmm-hmm.

MR. SHEPHERD:  Because it is -- gathering the information is annoying, so if you just keep it up-to-date it is easier.  So the question is, do you have that current information?  It is a standard form.  It just has headcount and compensation.

MR. JOHN STEPHENSON:  No, we don't have that form since 2013.  We wouldn't be looking at keeping that up-to-date because, in the circumstances that we're under, we would not -- didn't anticipate going in front of the Board for any rate adjustment that would require the 2L to be filed.

So we wouldn't do it if there wasn't a need to do it. We try to do things that we need to do for the day.

MR. SHEPHERD:  Okay, thanks.

MR. LADANYI:  Let's move on to Energy Probe number 9.  And there in Energy Probe number 9 I asked for integration costs by year.  And I wanted to split it out between capital and OM&A.

And the response was that they're all OM&A and there is no capital, which is fine.  But can we have it by year, when you would spend this money?  Or perhaps it is a Hydro One question.

MR. FALTOUS:  So if you go to -- sorry, just give me one second, please.

Yes.  If you go to Exhibit I, tab 1, schedule 17, and it's page 3 of 3, it shows you the transaction and integration costs expected over years one and two.

MR. LADANYI:  And these are the only years, then?

MR. FALTOUS:  Correct.

MR. LADANYI:  Let's go to Energy Probe number 10.  So there in part A -- let's go to 10 -- you said that the closing net book value of PP&E is 67,784.

And if you can turn to Exhibit I, tab 1, schedule 42, page 5, which is table 4, and there we can see the same number and another number, and I was going to ask you a few questions about that.  It's page 5 of schedule 42.  You're on 45.  42.  There we are.

So there we can see a number in your answer, 67,784, which is shown on the upper part of the spreadsheet for 2019 as the net PP&E.

But then I look at the lower PP&E, and it is 66,899.  And I was trying to understand what the difference is between these two.  I think the difference is 885,000 by my calculator.

Can you explain to me why the numbers are different?

MR. FLANNERY:  Certainly, I can help you there.  The difference is 885,000.  And that difference is the amount of fleet that Hydro One is going to purchase in the transaction, and that fleet is currently held in PUSI, which is -- pardon the acronym, but it is the service company.

So distribution, Peterborough Distribution doesn't own the fleet.  The service company holds that fleet and the agreement has identified some fleet that will come over and the cost, as you identified in the delta, is 885.

MR. LADANYI:  Thank you.  That's a good answer.  Let's turn to Energy Probe 11.  This was discussed yesterday as well, but I must tell you that I am still kind of confused about this.  And if I am confused it's possible that the Board panel will be confused when they make a decision, so maybe you can clarify it again.

So here I asked about what is the estimate of PDI annual cost that is currently treated as OM&A that would be capitalized under U.S. GAAP.  And you direct me to Exhibit I, tab 1, schedule 15, Staff 15.

So I am on Staff 15.  Where do I see this in Staff 15?  I look at A, I think you are referring to A, but I don't see any numbers in A.

MS. RICHARDSON:  You are correct.  At the time when we did the interrogatory responses, we hadn't done the calculation.  But since then, upon some indication that Board Staff was interested in this number when they provided us the list of interrogatories that they would be asking questions on, we did ask -- we did ask Peterborough to do a calculation of what their revenue requirement would be if overheads were both capitalized with indirect and direct, capitalized as is done for U.S. GAAP.

MS. GIRVAN:  Joanne, sorry, can you speak up?  Thanks.

MS. RICHARDSON:  Sorry.  So at the time when we responded to this, I agree I-1-15 does not provide the number Mr. Ladanyi was looking for.

However, when Board Staff indicated the questions they wanted to ask at this hearing, part of those questions was the exact number.  They asked us to create -- to replicate the revenue requirement forecast that was provided in one of our interrogatories as if both companies were using a same accounting standard.

So what we did is we asked Peterborough, on their overhead capitalization, to capitalize both their direct and indirect overheads.

What this resulted in was a change in the revenue requirement forecast, it would decrease in year 11 by 400,000.

MR. LADANYI:  So the only difference is 400,000 in year 11, is that what you are saying?

MS. RICHARDSON:  Yes.

MR. SHEPHERD:  Can you provide us with that spreadsheet?

MS. RICHARDSON:  I believe we can.

MR. JOHN STEPHENSON:  I have no problem in doing that.

MR. MILLAR:  JT2.2.
UNDERTAKING NO. JT2.2:  TO PROVIDE THE SPREADSHEET SHOWING DECREASE IN REVENUE REQUIREMENT BY 400,000 IN YEAR 11


MR. LADANYI:  So a related interrogatory was my Energy Probe number 16.  Can you turn to Energy Probe number 16, please?

So you have Energy Probe 16, very good.  Can you look at the answer to Energy Probe 16 there.  I asked under the status quo scenario, is the assumption that PDI would continue using IFRS capitalization rules.  If the answer is yes, please redo the table using U.S. GAAP.

So this undertaking you just mentioned is actually a response to Energy Probe 16, is it?

MS. RICHARDSON:  Yes.  I want to make sure I got the answer correct.  Under the status quo, PDI would continue to use IFRS, correct.

And what we provided you is what their rates would be, the difference if they were on U.S. GAAP for overhead capitalization rates.

MR. LADANYI:  So when I see your spreadsheet, that essentially will be what you are going to provide me.  You are going to say, well, if you were capitalizing, if they were capitalizing, this is what the numbers would be?

MS. RICHARDSON:  Yes.  If they're capitalizing under U.S. GAAP, that is what we will provide you.

MR. LADANYI:  Very good.  So can you turn to Board Staff 17, attachment 3?  Yes, this is it; we have seen this before.  These are assumed assumptions.

I am particularly interested in the assumptions about the revenue rate increase, which is kind of halfway down the spreadsheet.

So if you lock at 2018, the increase is 0.8 percent, and then in 2019, it is 0.7 -- very small numbers .75 percent.  Then we have a cost of service at 14.4 percent, which seems like a very large increase.

Can you explain to me why there is such a large increase for 2020 if you were doing a rebasing?

MR. JOHN STEPHENSON:  We discussed that a little bit yesterday in the context of the OEB questions, I believe.  Obviously, we haven't rebased since 2013.  So if you go through and look at that seven-year run rate to 2020 and the increase in rate base, the outcome of the -- on the projection would be that you would have -- that would be the impact of that in a rebase year.

MR. LADANYI:  And you think the 14.4 percent would be an increase that the OEB would approve?  It seems like a very large number, considering the increases the OEB has approved in recent years.

MR. JOHN STEPHENSON:  The projection is doing its best to look out over ten years and do the calculation based on the parameters that the Board has put forward for rebasing.

We haven't put into this projection any particular decision that might be anticipated from the OEB on that; that's not the purpose of the projection.

MR. LADANYI:  If by some chance OEB did approve it, in my experience OEB usually asks the applicant company to provide a mitigation plan to keep the increase below 10 percent.  Have you thought about that?

MR. JOHN STEPHENSON:  I am aware that that's the case. But again, until we got in front of the OEB and that mitigation actually was put into effect, then we would accommodate it accordingly.  But for the purposes of the projection, we haven't changed it.

MR. LADANYI:  Ms. Girvan just corrected me.  It is a bill impact mitigation plan, not a rate increase.  So it could be -- the percentages could be different.

MR. JOHN STEPHENSON:  Again, we would not anticipate OEB decisions in the projection that we put forward.

MS. RICHARDSON:  I would just like to draw your attention to attachment 19 in the pre-filed evidence.

So in this attachment, what we were trying to capture was after a five-year IRM application, five year deferred rebasing period, what sort of revenue requirement variances has the OEB approved in the past.

So if you noticed in the latter two columns, over an average from 28 approvals was 15.3 percent, where some were as high as 24 percent were approved by the OEB, some were as low as 9.7 percent, and as well as in the 2017 approvals the average was 12.7 percent, again with a wide range, going anywhere from 5.8 percent, it looks like, to 33 percent.

So I think the 14 percent that Peterborough has provided in this I don't think is out of the range of what has been accepted by the Board in other applications.

MR. SHEPHERD:  The other day I provided everybody with a comparison of 2018 scorecard results, and I wonder if we can put that in evidence.  Mike?

MR. MILLAR:  It's K2.2.  The scorecard comparison chart.
EXHIBIT NO. KT2.2:  COMPARISON OF 2018 SCORECARD RESULTS.

MR. SHEPHERD:  And at the bottom of this is the calculation of regulatory return on equity achieved for each of the three companies.  So I will deal specifically with Peterborough.  It says your regulatory return on equity was 7.31 in 2018.  Right?  Does that adjust for your leverage?

MR. JOHN STEPHENSON:  I am trying to comprehend the question, so give me a minute.  I am not sure I quite understand it --


MR. SHEPHERD:  You are under-leveraged, right?

MR. JOHN STEPHENSON:  We have a leverage, an actual leverage that we saw in the financial statements yesterday.

MR. SHEPHERD:  But this regulatory return calculation, have you adjusted to 40 percent leverage?

MR. JOHN STEPHENSON:  40 percent equity, is that what you say leverage --


MR. SHEPHERD:  Yup.

MR. JOHN STEPHENSON:  -- is about 40 percent equity, 60 percent debt, just --


MR. SHEPHERD:  Yes.

MR. JOHN STEPHENSON:  -- to clarify.  I am presuming that the way we reported this is in accordance with the OEB reporting.  I would have to check to see what the underpinnings of it are.

MR. SHEPHERD:  The reason why I ask is that in my experience over the last couple of years different LDCs have calculated the regulatory return on equity in different ways.

MR. JOHN STEPHENSON:  Right.

MR. SHEPHERD:  So I wonder if you could undertake to provide the calculation of that 7.31 percent.

MR. JOHN STEPHENSON:  That's fine.

MR. SHEPHERD:  And I wonder if Orillia could provide their 7.55 percent calculation and Hydro One could provide their 8.07 percent calculation.  It can be all one undertaking if you like.  I just want to make sure they're all calculated the same way.

MS. RICHARDSON:  Hydro One will be able to provide that calculation.

MR. HURLEY:  We can also provide it.

MR. SHEPHERD:  Thank you.

MR. MILLAR:  And Peterborough too?

MR. JOHN STEPHENSON:  Yes, I said I would.

MR. MILLAR:  Okay, thank you.  JT2.3.
UNDERTAKING NO. JT2.3:  (A)  FOR ORILLIA TO PROVIDE THEIR 7.55 PERCENT CALCULATION; (B)  FOR HYDRO ONE TO PROVIDE THEIR 8.07 PERCENT CALCULATION; (C)  FOR PETERBOROUGH TO PROVIDE THEIR CALCULATION.

MR. SHEPHERD:  Thank you, sorry.

MR. LADANYI:  Thank you.  I am coming to my last Peterborough question and then we will go to Orillia.  And this might be a short one.  So Energy Probe 22.  And this really was a question for Hydro One.

I must admit that I actually don't understand adjustment factors, and I thought I would ask a question to have it explained to me.

So I asked, please list the proposed adjustment factors, please obtain how each adjustment factor would be calculated, and please provide a numerical example of each adjustment factor.

And I was then directed to Board Staff 48, and I read Board Staff 48, and it is still not clear to me.  So is this -- and I don't want you to go through a long mathematical explanation right now, because I really don't want to take a lot of time on it, because I think it was discussed.

Is this your best explanation that's in Board Staff 48, or is there some better explanation somewhere else?  That is the question.  I don't want you to do math in front of me.

MR. ANDRE:  I understand.  So in I-1-48, starting at page 5 and carrying over to page 6, we go through each tab of the adjustment factor calculation spreadsheet with a description of what that -- each tab is doing.

And then attachment 2 -- yes, it would be attachment 2.  Let me just confirm.  Yes.  Attachment 2 to this interrogatory response is the actual spreadsheet itself.

So in terms of your question about, can you give me a numerical example, that spreadsheet shows you the actual derivation of those sheets.

This is a detailed description of what is in each sheet.  In our pre-filed evidence we would sort of have a higher-level explanation of what the intent of the adjustment factor is, but if you were looking for detail, you know, we go through every single tab.

So there is seven tabs in that spreadsheet that we have provided, and it explains what is in each spreadsheet.

MR. LADANYI:  Thank you.  I will study it some more.  Hopefully I will get it.

So this is my end with Peterborough questions.  Is this a good time for a break?  I have a few Orillia questions.

MR. MILLAR:  Yes.  Let's break for 15 minutes.
--- Recess taken at 10:56 a.m.
--- On resuming at 11:12 a.m.

MR. MILLAR:  Okay, let's continue.  Mr. Ladanyi?

MR. LADANYI:  Thank you.  We are now on Orillia, so Peterborough can rest.

So Energy Probe Interrogatory No. 9, if you could turn to that.  Yes, there it is, thank you.

I asked about LV charges, but I am actually more interested now in the column that talks about cost of service and IRM rate increases.

So I see that the cost of service for 2018 is 6.3 percent, and then we have IRM 1.55 for four years, and then we have the cost of service in 2023 and so on.

And there is a note at the bottom that says the source of these numbers is attachment 1; it says EB-2017-0320 Hydro One reply submission, December 13th, 2017, attachment 1.

And I actually went there to see if I can find it, but there is no attachment 1.  It is actually called attachment A.

I handed out an exhibit this morning which is now listed as KT2.1.  Does the panel have that?

MS. RICHARDSON:  Yes, we do.

MR. LADANYI:  So the explanation that you are drawing my attention to is note 1, is it?  It is in the in the spreadsheet, is that right?  It's in the spreadsheet note 1.  The acquired utilities are assumed to have filed either annual price cap adjustments or a cost of service rebasing application.

MS. RICHARDSON:  That's correct.  It was regarding the note 1.

MR. LADANYI:  So the numbers -- for a start, the numbers that you are recording, are they still current numbers?  Or if you had a chance now, based on latest information, would you change any of those numbers?  Like 6.3 percent, would it become something else?

MR. ANDRE:  I think perhaps the only number that could be changed would have been -- we did file a cost of service application in 2018.  So we would have an average percentage increase specific to Hydro One for 2018.

But in future years and in the IRM years, that wouldn't change.

MR. LADANYI:  So the 6-30 for 2018 would be what?

MR. ANDRE:  I don't have that number at my fingertips, but that is available from the last distribution application.  So if you wanted, we could certainly -- I could certainly look that number up for you.

MR. LADANYI:  Could you be so kind to look it up, please?

MR. ANDRE:  Sure.

MR. LADANYI:  Undertaking.

MR. MILLAR:  JT2.4.
UNDERTAKING NO. JT2.4:  TO CONFIRM THE 2018 VALUE FOR THE 6-30

MR. LADANYI:  Looking at this spreadsheet, I was kind of intrigued by the different assumptions between this spreadsheet and the one that we saw a little while ago for Peterborough, where they had a 14 percent increase and 6.9 percent increase and in between years of 0.75.

Could you explain to me why they're different?  Is it because Peterborough did their numbers and you did the Orillia numbers; is that what it is?

MR. ANDRE:  No, that's not the reason.  So in this IR response, what we were asked to do was to estimate what the LV charge -- which per the question from Board Staff earlier this morning, I confirmed that the -- what Orillia in this case calls a LV charge is actually simply the sub-transmission charges that Hydro One levies to them as an embedded distributor.

So what we were asked to do is, what would Hydro One's embedded distributor charges grow at, and therefore the appropriate estimate of what Hydro One's embedded distributor charge would grow at is to use Hydro One's -- an estimate of what Hydro One's growth in rates would look like.

So this is Hydro One's number, because the LV charge is a Hydro One charge to Orillia.

MR. LADANYI:  Okay, thank you for that.  Could you turn to Energy Probe Interrogatory No.12?  I think these are going to be questions probably for Hydro One.

So here I am trying to explain to myself the benefits, and so I asked some questions about it.  So I said please confirm that according to Hydro One -- so we were originally referring to Exhibit A, tab 4, schedule 1, page 8, table 4.  You can turn that up; maybe that will be clearer.

I said please confirm that according to Hydro One's net benefit of the merger is 6.584 million, the difference between 14.448 million total cost to serve OPDC status quo and 7.84 million total residual cost to serve. If the answer is no, please explain your answer.

So I read your answer and I am actually not clear on what you are trying to say here.  So you're saying that 6.6 million represents annual expected savings?  Can you explain actually what are you trying to say in response A?

MS. RICHARDSON:  So we are agreeing with you, that that is the net benefit of the merger as far as cost revenue requirement is concerned.  And we're saying that those ones we expect will continue on.  They're sustainable benefits.

What we have also said is that there's other benefits to -- that we see there's other benefits that the customers of Orillia will receive as a result of being served by Hydro One, and those are represented in lines 27 to 31 of those, to do with a lot of our customer care facilities, our longer hours of help desk, our customer care information centres being open and stuff like that.

Now, there is also -- we haven't put in there, there is also some other external costs impact, you know, such as -- like for example, there will be one less company that will have to go through an OEB hearing.  There will be one less IESO settlement cost.  So those are also industry benefits that will accrue to the industry, not necessarily to Orillia on its own.  But there will be lower costs overall.

MR. SHEPHERD:  Can I just follow up on that?

MR. LADANYI:  Please.

MR. SHEPHERD:  Can you turn back to KT2.2.  That is the pretty picture.  We needed some colour in the room.

MS. RICHARDSON:  Sorry.

MR. SHEPHERD:  And you talk about the non-financial benefits in this interrogatory response, but doesn't it also mean that the customers of Orillia and Peterborough would have the Hydro One telephone calls answered on time, 78 percent instead of 96 percent?  And the first contact resolution much lower, and higher SAIFI and higher SAIDI?

Aren't those all non-financial impacts that they're going to have to deal with in Orillia and Peterborough?

MR. FALTOUS:  Yes.  So I mean, I think if you look at these numbers, they're all more than meeting the OEB targets.  So the OEB has set targets for what distributors -- the level of performance the distributors need to live up to, and you can see the targets are actually in brackets in this exhibit under the performance year column.

And all of the Hydro One numbers are significantly exceeding those targets.  So we are meeting the targets set out by the OEB.

MR. SHEPHERD:  Mr. Hipgrave, how many telephone calls does Orillia get every year?  In the 25,000 range?

MR. HIPGRAVE:  I don't know the exact number, but my recollection is it is about half of that, around 12,000 a year.

MR. SHEPHERD:  12,000.  So what you're saying is that 18 percent of those 12,000 calls will not be answered on time, whereas under Orillia's management, they would be answered.

So 18 percent of 12,000, which is about, what, 2,000?  So 2,000 people are not going to get an answer that they would before, every year.  Is that right?

MR. FALTOUS:  Can you give us a minute?

MR. SHEPHERD:  Yes.

MR. FALTOUS:  I think to clarify, the measure is not that people are not getting an answer.  It's basically the percentage of calls that are answered within 30 seconds.

MR. SHEPHERD:  Yes.

MR. FALTOUS:  So it doesn't mean that the calls are not answered.  It's that they're -- you know, Hydro One 78 percent of the time is answering their calls within 30 seconds, and some of the calls are taking a little bit longer than that to answer.  So it's not that customers are not getting a response.

MR. SHEPHERD:  Ten customers every business day from the day you complete the transaction, ten customers every business day are going to have to go on hold when they wouldn't have right now.  Isn't that right?

MR. FALTOUS:  No.  Not on hold.

MR. SHEPHERD:  Well, sorry, you don't answer it in 30 seconds.  What happens?

MR. FALTOUS:  Well, I think they get answered beyond 30 seconds.

MR. SHEPHERD:  They go on hold in the meantime, right?  I'm sorry, it's not complicated.

MR. FALTOUS:  I can't say.  I don't know the exact details.

MR. SHEPHERD:  Isn't that a -- I won't call it a harm.  Isn't that a disbenefit to the Orillia customers?

MR. FALTOUS:  So...

[Mr. Andre and Mr. Faltous confer.]

MR. FALTOUS:  Yes.  So, I mean, I think you need to look at it in the context of the entire proposal, which is, we are talking about significant savings for customers.  I don't think you can just pick one number and say that, well, because of this one number this is a problem.

MR. SHEPHERD:  So turning to Peterborough, Hydro One has said that certain things will be better, that you will have certain improvements in customer service in Peterborough as well, right?  And so the 25,000 calls a year is actually yours, right?  You have about 25,000 calls a year?

MR. JOHN STEPHENSON:  That sounds about right as an approximation.

MR. SHEPHERD:  And so nine-and-a-half percent of them will now be longer than 30 seconds, which means that's another 2,000 calls, ten every business day, roughly; isn't that right?  Your customers -- you're answering those calls right now basically right away, right?

MR. JOHN STEPHENSON:  I think our statistics point that out, yes.

MR. SHEPHERD:  Okay, thanks.

MR. JOHN STEPHENSON:  Point out that we're answering them.

MR. SHEPHERD:  Thanks.

MR. FALTOUS:  If I can also point you to Exhibit A, tab 2, schedule 1.  From a customer-service perspective there is a number of other things that Hydro One offers that PDI and Orillia currently do not that includes longer hours for our call centre, an IVR system, as well as some automated notifications when it comes to outages, so notifying customers of outages by e-mail or by text messages based on their preferences.

So I think to be clear, there are other customer-service benefits that customers will get through this acquisition that they currently are not receiving with Orillia or Peterborough.

MR. SHEPHERD:  So I am going to turn back to Peterborough, because those things are all in your plans, right?  You are going to have outage text messages and all of those sorts of things over the next ten years anyway, right?

MR. WHITEHOUSE:  We have the capabilities of gathering that material at this time, but the cost for a smaller utility like that to have outage management and automated services like that that Hydro One has, it is just not within our realm to be able to afford to be able to do that.

MR. SHEPHERD:  Because it costs too much?

MR. WHITEHOUSE:  Because it costs too much.

MR. SHEPHERD:  Thank you.

MR. MILLAR:  Sorry to interrupt.  I believe Mr. Whitehouse has to leave at noon or one of the witnesses.  Have you asked all of the questions you have for him?

MR. LADANYI:  Yes, I have.

MR. MILLAR:  And I just want to check with Bill and Julie if they have any questions for him, just as we're getting close to noon, and I want to make sure if people have questions for them they can ask them.

MR. HARPER:  I don't believe I do.  If we stumble over one perhaps we could do it by way of undertaking, but I don't believe I do.

MR. MILLAR:  Okay.  Julie?

MS. GIRVAN:  No.

MR. MILLAR:  Okay.  Go ahead, Tom.

MR. LADANYI:  Still staying on Energy Probe Interrogatory No. 12.  So many have confirmed that the saving -- and this is the period after the deferral period -- is $6.6 million a year, and had OPDC continued the costs would be 14.4 million.  And I thought this is such a large number, you know, 6.6 divided by 14.4, it is about 46 percent saving, which is really quite a dramatic saving.

And I tried to put my mind around how you can achieve such a saving, considering there will be growth, I would think, in Orillia.  Did I say Peterborough?  I made a mistake.  In Orillia there would be growth.  There would be other things going on.

So I noticed that in your evidence at Exhibit A, tab 2, schedule 1, page 13 -- you don't have to turn it -- you talk about eliminating 19 positions, and I thought, well, that's not many positions.  I mean, how much could you save with that many positions?  You certainly wouldn't pay for $6.6 million.  I mean, that would be like 350,000 per employee.  So there's going to be some other savings.

So I asked question B.  And the B is:  Is the 6 point -- the 6 million difference composed of three components, the less than full share of shared services costs, the difference in capitalization -- and I really should have said accounting -- between U.S. GAAP and IFRS, and assumed savings from staff reductions, and if the answer is yes, please provide the amount of each component in year 11, and if the answer is no, provide the reasons for your answer and list all of Hydro One's components that total $6.6 million.

And you provided answer B.  You say no, so $6.6 million.  This is explained throughout the evidence.  And I am still trying to understand, if it is not that, what is it?  So it has to be made up of something.  It is not all salaries.  What is it made up of?

MS. RICHARDSON:  Okay.  So in part what it is made up of is the functions that will no longer be required for Orillia to operate as a separate company --


MR. LADANYI:  That would be salaries?

MS. RICHARDSON:  So that would be salaries.  So the majority of the difference is OM&A costs.  So it is related with the salaries, some maintenance fees, and IT systems, like, things like that.

So we have licences for IT systems.  Those will not be required.  They would go under the Hydro One realm of maintenance of equipment.

Our audit functions.  They will no longer do an external audit.  They will no longer have their own board of directors.  All of those functions will be gone from Orillia, and then so those costs will no longer be required to be paid for.

MR. LADANYI:  So is there kind of a -- if you can give me a list or point me to a spreadsheet where these are itemized that add up at the bottom to 6.6 million?

MR. FALTOUS:  So, no, and the reason for that is because we did not calculate the savings that way.  I mean, our best attempt to provide that view as to what the savings are specifically if we're talking about for OPDC is provided in OEB Staff 3, so Exhibit I, tab 1, schedule 3.

And if you go there, that is a table that basically shows you, and specifically table 1 of that response under part B, it shows you the annual range as best as we could categorize it of expected savings.  But again, the savings were not built up this way.

What we looked at was, what is our additional cost to serve Orillia and the overall Hydro One forecast that would be required and compared that with their status quo forecast.

MR. LADANYI:  So I actually had this up before.  So this is what you are relying on really, is it?  Is that what it is?

MR. FALTOUS:  This is our best attempt at providing visibility to the ranges of where the savings are coming from.  But like I said, they were not calculated this way.

MR. LADANYI:  As I go down this list there is management.  So that is salaries.  Financial regulatory.  That's salaries, plus paying somebody for some auditing fees; is that right?

MS. RICHARDSON:  It also -- it also would include hearing costs.  We would no longer be doing a separate rate application after the deferral period and only a minimal in years six to ten, a minimal price cap index rate application for the required utilities.

MR. LADANYI:  So that is inside there.  Then we go to back office.  Customer service, .6 to .7.

Okay.  We're down there to the bottom.  So we've got a total there of 3.6 to 4.7.  So what is the rest then to get to 6.6?

MS. RICHARDSON:  Okay.  So I believe -- I just want to double-check it, so I wrote a note that it is in SEC 23.

So if we open up I, tab 2, schedule 3, or Schools 23, you will see on page 2 -- I-2-23, page 2.  So you will see there that the OM&A savings for Orillia are 4.8, which
is -- I think that the range that we talked about earlier was up to 4.7 million, so that is around in that range there.

The other savings are as outlined on that table, and that add up to the 6.5 million of savings.

MR. LADANYI:  So is depreciation savings, as I see there.  That is a big chunk.  That would be related to accounting, isn't it?

MS. RICHARDSON:  Yes.

MR. LADANYI:  And then tax.  Okay.  I thank you for that.  Now I will consider those numbers.

Now, I had a bunch of questions relating to issues that were explored before, which is IFRS and shared savings.  Mr. Shepherd told me at the break not to ask any IFRS questions.

[Laughter]

MR. LADANYI:  And I checked the answers that were given on shared savings, so I am going to end my examination now.  Thank you.

MR. MILLAR:  Thank you, Mr. Ladanyi.  Ms. Girvan or Mr. Harper?
Examination by Mr. Harper:


MR. HARPER:  I can start now, if you would like.

MR. MILLAR:  Yes, please.

MR. HARPER:  I don't anticipate being finished before lunch.  So maybe you can let me know what time you think you would like to break for lunch.

MR. MILLAR:  Yes.  In an hour and a bit probably.

MR. HARPER:  Okay, I will try to hit something around then.

My first area of questions actually has to do with service quality indicators.  I think we have talked about that a bit already and for both Peterborough and the Orillia applications, VECC asked questions regarding the comparative service quality indicators between Hydro One and the utility being acquired.

If we could maybe start with the Peterborough application, and turn up the response to VECC 14-C.  The response here is exactly the same -- except for the numbers, the wording is the same for Orillia.  So I think I will focus on the Peterborough one and hopefully your answers will equally apply for Orillia.

So here we asked you to provide a history of the performance of Peterborough and Hydro One with respect to the service quality metrics that are reported through the Board's RRR filings, and you did so.

However, if we go to the part C, the verbiage part, you noted that Hydro One was predominantly a rural utility while Peterborough was predominantly an urban utility.

I assume that this comment was meant to infer that the values weren't really comparable because we were comparing apples and oranges; one was urban and one was rural.

Was that the intent of that comment?

[Mr. Andre and Mr. Faltous confer.]

MR. FALTOUS:  So I don't think that there were directly an -- that comment was directly in application to the service quality requirements on page 3 of 4.

MR. HARPER:  Okay, fine.  Because when I looked at them and went down the list, in many cases I couldn't see where the factor of urban versus rural really had influence --


MR. FALTOUS:  You are correct.

MR. HARPER:  You've shortened my questions, because I was going to go through each of them and get you to explain to me why you thought they were different.  So thank you very much.

The next question I have also applies to the Peterborough and Orillia applications, and so again I will ask it in the context of Peterborough, but your response will probably equally apply to Orillia.

Can you turn up OEB number 11 from the Peterborough application?  That is Exhibit I, tab 1, schedule 11, I believe it is.

In the last paragraph to this, if you go right to page 4 and the very last paragraph at the bottom of page 3 and the top of page 4 -- and I think we talked a bit about this yesterday.

In the last paragraph, you indicated -- and I think reaffirmed yesterday -- that Hydro One anticipates transitioning the Peterborough customers to either one of its proposed new acquired utility classes or to a stand-alone class.  That is it will go to an existing acquired customer class, or you will may be proposing a new stand-alone acquired class.

Furthermore, that the decision on this will be made at the end of the deferred rebasing period, when you actually come back to rebase in 11 years.  Have I got that correct?

MR. ANDRE:  Yes, you do, Mr. Harper.

MR. HARPER:  Also I believe you said the decision as to whether to use one of the existing acquired classes or create new classes would depend on whether or not you could still meet the no-harm test with the existing customer classes.  Is that correct?

MR. ANDRE:  I think what we said is we would explore that option in year 11, and see what the impacts of bringing the, in this case, PDI customers into an existing urban acquired class, what that would mean in terms of the relative costs to serve, both for the existing customers that are in that class as well as the new customers coming in and what that might mean in terms of bill impacts, and make a decision based holistically on that information.

MR. HARPER:  Maybe we could go to VECC 22; that's Exhibit I, tab 4, schedule 22 from the PDI application.

Here we asked you a little bit about how you would actually do this, and you gave us a bit of a description.

If I go to -- in the middle one of the paragraphs, you state that you would really run two cost allocation models, one with PDI customers and one without PDI customers.  And then you state the cost allocation model including the PDI customers would then be adjusted to ensure that the incremental distribution assets added to the new acquired classes appropriately reflected the cost of the PDI customers.

So am I correct that this adjustment would involve adjusting the allocation factors used to attribute costs to that existing acquired class, and therefore would impact the costs that would be allocated to -- you know, be assigned to all customers in that class, not only the new PDI, but the existing acquired customers that were already in that class?

The adjustment factor would apply to that existing acquired class, right?

MR. ANDRE:  Yes, you are correct.  So, you know, we would run the model with just the existing customers that are in that acquired class at the time.  And that would determine sort of what the adjustment factors are to get to the assets required to serve those customers.

Then we would run it with the new PDI customers in there and say, okay, what does the model want to allocate now?  But it only should be allocating the additional assets actually required.

So what you end up with is exactly as you say, a blended adjustment factor that reflects the costs of serving both sets of customers within the same class.

MR. HARPER:  But then when I have that new, existing acquired customer class after I have applied the adjustment factors, the costs that are in there are then going to be the costs I use to create the rates for all customers in the class, not only the Peterborough customers, but the existing acquired customers as well.

MR. ANDRE:  Yes, that's correct.  And that's why I say we would look at that and see what that would mean, in terms of, you know, how different does that result in terms of the costs to serve those two separate entities.  If it is generating large differences for those two groups of customers within the same class, then we might consider doing something different.

MR. HARPER:  Then if I go to the end of the paragraph, you state Hydro One would then assess the amounts of revenue to be collected from the PDI customers, and adjust the revenue-to-cost ratios if necessary to ensure the revenue collected from the PDI customers fell within the goalposts.  And you talked about what your goalposts are earlier.

Would I be correct in adjusting those revenue-to-cost ratios, you would be impacting not only the revenues collected from the PDI customers, but also from the other existing acquired customers that were already in the class?

MR. ANDRE:  You are correct, Mr. Shepherd -- Mr. Harper.

MR. HARPER:  Thank you for the compliment.

[Laughter]

MR. ANDRE:  The reference to PDI customers should be the acquired customers within that class, within the new class, and it would include both.

MR. HARPER:  I guess what I am getting at is all of these adjustments you're talking about would impact not only the PDI customers, the rates they pay in the end, but would impact the rates of the other acquired customers that were already in that class.

MR. ANDRE:  Yes, you are correct.  And as I say, that would be part of what we would look at in terms of what the impact would be to the existing customers and, you know, present evidence to the Board in terms of whether we think that is reasonable or not.

MR. HARPER:  Okay, fine.  I just wanted to understand that.

So if we could go to your response to OEB 32 from the PDI application.  That is Exhibit I, tab 1, schedule 32.

And here you provide a comparison of Peterborough's current specific service charges with those that were proposed by Hydro One in its 2018 to 2022 CCR application.

You note that charges were -- the approval was still pending at the time that you wrote this response, I believe.  And I was wondering if you could, now the decision has been released, just advise us as to whether any of these service charges you have set out from Hydro One's perspective changed as a result of the approval or whether this is still valid in terms of the numbers that are here?

MR. ANDRE:  That's a good question, Mr. Harper.  There have been a number of changes in terms of what was ultimately improved as part of our DRO.

There aren't that many.  I could go through them, or we could offer to simply provide the updated numbers as part of a response, which might be easier --


MR. HARPER:  Rather than me trying to go through the transcript, it would be easier if you could just provide an update.  That would be great --


MR. ANDRE:  I can do that.

MR. MILLAR:  That is JT2.5.
UNDERTAKING NO. JT2.5:  TO ADVISE AS TO WHETHER ANY OF THESE CURRENT SPECIFIC SERVICE CHARGES SET OUT FROM HYDRO ONE'S PERSPECTIVE CHANGED AS A RESULT OF THE APPROVAL OR WHETHER THIS IS STILL VALID IN TERMS OF THE NUMBERS.

MR. HARPER:  Can we turn to VECC 13 from the Peterborough application.  That is Exhibit I, tab 4, schedule 13.  That was VECC 13.

Okay.  Now, here we asked you to calculate the difference in revenues if the two sets of charges, the Hydro One charges versus the PDI charges, were applied to PDI specific charge billing quantities for 2017, and your response was that this would be too difficult to do.

Now, I am not too sure whether the response was written by Hydro One or by Peterborough, but that was the response that we got from Peterborough.

Now, if I could go to the Orillia application and specifically your response to SEC number 6.  I-2-6.  Now, in this response, in contrast in this response, this response does set out the Orillia specific service charges and the billing quantities and actually does the calculation for Orillia that we asked to be done for Peterborough.

And I was wondering why there was such a difference if it was possible to do it for Orillia it was not possible to do it for Peterborough.

MR. WHITEHOUSE:  I will take that.  So we are having some -- we're trying to build a -- drag that information out of our billing system, and reporting is, I will be quite honest, is a challenge with the things that is constantly moving.

I think the wording that we used in there saying "impossible" may be a little bit strong.  It is going to be a challenge.  But we can provide some of those things, that information, to be able to line them up.

Because there is such a wide difference between the charges that Hydro One charges and what we currently do and they don't, notionally when, you know, we have taken a look at it, and it's -- there's going to be -- a lot of the collections -- charges that we currently do Hydro One doesn't.  And so we take a look at that.  That's the vast majority of our service charges that we apply to our consumers are under the collections.

And with that, you know, just as kind of a back-of-the-envelope is that there's going to be a -- would be a significant reduction in -- with Hydro One's rates compared to PDI just because of the non-charge of collection of some of the things and also with the alignment of some of the charges with the current PDI charges.

MR. SHEPHERD:  Could you use your best efforts to produce a table similar to SEC number 6?

MR. WHITEHOUSE:  Yes.

MR. HARPER:  And I guess our question may have asked about or used particular years or a number of years, and if it's getting three years' worth of data as opposed to one year's worth of data that causes you the problem I appreciate it.  You could maybe just, you know, try, as Mr. Shepherd said, make your best efforts, that would really be great.

MR. MILLAR:  Okay.  It's JT2.6.
UNDERTAKING NO. JT2.6:  TO MAKE BEST EFFORTS TO PRODUCE A TABLE FOR PDI SIMILAR TO SEC NUMBER 6.

MR. HARPER:  Thank you.  I am wondering now if you could turn up your response to OEB 26B from the Peterborough application.  That is Exhibit I, tab 1, schedule 26.  It is part B.  I guess this is the Hydro One...  OEB 26.  Tab 1.

MR. SHEPHERD:  That's SEC.

MR. HARPER:  Thank you.  Here the Board asked you how the $1.8 million in ESM would be allocated to customer classes.  In part B you provided a response indicating how it would be done annually or if it was done cumulatively at the end of the deferred rebasing period along with an illustrative example.

When I looked at this, and if I summed up the annual values for any particular customer class, I didn't get the cumulative value that you show in the table.  You can flip down to the table if you want and you can see what I am talking about there.

Scroll down a bit.  Yes.  The table is split, but when I summed up the annual values I didn't get the cumulative value, and I think that was because if you did it just one time at year end you were using the year-ten revenues to allocate the customer classes, whereas if you did it annually, annually you are using the revenues in every single year to allocate the customer classes.

Do I have the understanding of why there is a difference?  Excuse me.  Correct?

MS. RICHARDSON:  Sorry.  Are you talking about the year six, where the total of the 521 plus 411, 343, 280, and 217 doesn't equal the 1772?

MR. HARPER:  Well, I was looking across, and let's say for residential, I was adding up, when I added up the numbers for residential across the five years I didn't get the cumulative total you had at the end.

MR. ANDRE:  It should -- so I can't answer right here in terms of why they wouldn't.  They should.  Joanne, did the -- did the bottom numbers --


MS. RICHARDSON:  The bottom lines were added up.

MR. ANDRE:  If the bottom lines add up then the split across rate classes should be just splitting all of that amount so that the total one million 772 gets allocated.

So, yeah, okay, I see.  Yeah.  Probably you are right.  I mean, I think we would have split it within years six, seven, and eight based on the share across classes in those years, and then cumulatively it should have been simply the sum across instead of reapplying -- I guess it would depend on when it would be done.  If all of the amount was done in year ten when the full amount had been accumulated, probably that that last column would be the best approximation of how it would get split.  But if it was done yearly, then the numbers shown for year six, year seven, year eight, year nine, and year ten columns would be a better approximation.

MR. HARPER:  That was my understanding, was the cumulative number was based on the year-ten allocation across customer classes, as opposed to a sum across the six years.  And I just wanted to confirm that that was the difference in your proposals between it was annually or it was done just once at the end of the period.

MR. ANDRE:  Right.  You are correct.  That is what it is intended to show.

MR. HARPER:  Okay.  Now, I notice in your illustrative example you have a portion of the ESM being allocated to the large user class.  However, I understand in your proposal at the end of the deferred period you're now proposing to have a new customer class for Peterborough's two existing large use customers, but rather they're going to be rolled into your existing ST class.  Do I have that correct in terms of my understanding of how the large users will be treated for Peterborough at the end of the deferred rebasing period?

MR. ANDRE:  Yes, that's correct, Mr. Harper.

MR. HARPER:  So in this case you're showing some of the money would go back to the large user class, to the large users in Peterborough.

If the two large users in Peterborough are part of the ST class, would they still then be assigned, just the two of them, allocated costs in the ST class, or would they lose that -- would they lose the right -- or would they lose it -- let me put it bluntly -- quote-unquote right to that money because now, by the time you are doing the refund, they're part of a class that is no longer separately identified as being strictly Peterborough customers?

MR. ANDRE:  Yes.  I understand your question exactly.

No, we would have to -- even though they're part of that class as part of the settlement.  I mean, we always have -- there's the normal stuff that goes through the billing system, but then we have a settlement group.  Clearly something extraordinary would have to be done to ensure that those amounts would be refunded just to the large user, the same as it is for the other classes as well.

So we would have to find a mechanism to ensure that those ESM amounts would be refunded just to the customers in the acquired class.

MR. HARPER:  I just wanted to clarify that that was going to be the case, okay, fine.

Now, if we could please turn up your response to VECC number 9 from the Peterborough application, here we asked you for information regarding Hydro One's forecast and actual OM&A for 2017.  And the actual value reported here, if we scroll down, is the 558,711,095 dollars.

Now, earlier this week I distributed extracts from the Board's 2017 and 2018 yearbooks, so I don't know whether people - we can, if it is possible I would like -- I don't have hard copies here; I apologize for that.  Probably we can work off -- I don't know, do you have a copy here that you could put up on the screen for us?  Or maybe I will just work through and you can take the values subject to check.

MR. ANDRE:  We do have the attachment, but if others wanted to see it on the screen...

MS. RICHARDSON:  I think we are going to get it up.

MR. HARPER:  If I go to 2017, there's a couple of pages in -- I believe it is the second page in, there is the income statement for Hydro One.  I have taken the liberty of summing the three OM&A numbers that are shown there and sort of showing the total at the bottom there and the total was 559,144,000 dollars.

I was just wondering, I noticed when I looked at Peterborough and Orillia's financial statements, the OM&A number in their financial statements was virtually equivalent to what was in the yearbook, I mean within a dollar to be quite honest with you.

I was wondering why in Hydro One's case, the number in the yearbook was not the same as the number that you gave me in that IR response.

MR. ANDRE:  So I hadn't done the math, Mr. Harper, but I did just now.

So I added -- oh, okay.  It's there.  I also went through, yeah, which is the same total of operating maintenance and administrative.  So 559 and we're showing here 558.7.  So, yeah, there's a $300,000 difference.

MR. HARPER:  I was wondering whether there was some fundamental difference in terms of the way you reported one versus the other that led to the discrepancy.

MR. ANDRE:  My understanding is that the number that is in the IR response came from a response in our distribution application.  It came from the response to Exhibit I, tab 38, SEC 70 that was from our 0049 last distribution application.

So that is what we used as the number for pulling it there.  You know, perhaps between the time that IR response was done and the RRR information was submitted to the Board, there might have been -- you know, obviously there was a 300,000 adjustment, which on 558 million, I think everyone would agree that that's -- but, yeah.

I think that the source of the difference is one was from that IR response, because we were looking for -- I said, you know, what is the -- get me something that has that actual and we had just gone through the distribution application, so we knew that IR existed and so we pulled it from there.

MR. HARPER:  That number is small, but if I can go to the OPDC application and your response to Schools 41, attachment 1, page 4 of 33, these are the Hydro One Distribution financial statements for 2018.

So it's the Orillia application, Exhibit I, tab 2, schedule 41, attachment 1.  If you go to page 4 of 33, and if we look at the operations and maintenance number here for 2017, it is 567 million, which is roughly $8 million higher than the number you gave me in that IR response.

I was wondering, like, this isn't $300,000.  This is an eight million difference.  I was wondering if you could explain to me the discrepancy between what you gave me in the IR response and what is in your financial statements.

[Hydro One panel confers]

MS. RICHARDSON:  Sorry, I thought my colleague was answering that question.  What I believe is the financial statements that are shown on the screen would include all of Hydro One's distribution business, which would include the OM&A costs for Norfolk, Woodstock and Haldimand hydro, whereas the reference in the interrogatory response was related to Hydro One Networks' distribution business, and those costs would have been excluded from that.

MR. HARPER:  Those costs were also excluded from what was reported effectively to looks like it was reported in the yearbook as well, then.

MS. RICHARDSON:  In the -- yeah, I would have to double-check what was reported in the yearbook.

MR. HARPER:  We talked about there only be a 300,000 difference as opposed to an $8 million difference.  I was leaping to an assumption there.  Maybe we can take your answer and accept it, and if for some reason -- you can go back and check it and if for some reason either of those -- if you want to revise either of those two, you can let us know afterwards?

MS. RICHARDSON:  That's fair.

MR. ANDRE:  We should take that as an undertaking, to just confirm those numbers.

MS. RICHARDSON:  We agree.

MR. MILLAR:  So we will mark it as JT2.7.
UNDERTAKING NO. JT2.7:  TO CONFIRM THE REASONS GIVEN FOR THE DIFFERENCES BETWEEN THE OM&A NUMBERS RECORDED FOR HYDRO ONE IN THE FINANCIAL STATEMENTS VERSUS WHAT WAS REPORTED IN THE RESPONSE TO VECC 9


MR. MILLAR:  Mr. Andre, please just describe the Undertaking -- or Mr. Harper.

MR. HARPER:  They're to confirm the reasons they have given for the differences between the OM&A numbers recorded for Hydro One in the financial statements versus what was reported in the response to VECC Number 9.

MR. MILLAR:  Thank you.

MR. HARPER:  Okay.  Now, I am not an accountant, so I am really hesitant about this next question.  But if we could go to the exhibit that Mr. Shepherd shared yesterday, which was KT1.1.  Those were the financial statements for Peterborough.

If we go to the page that has the statement of income on it, which I think is page 6 in the PDF, PDF page 6 -- right, okay.

Now as I said, when I looked at the Board's fiscal yearbooks, the numbers reported here for OM&A of roughly nine million for each of 2018 and 2017 were the numbers that I saw in the yearbook.

Now, I notice -- again, this is where me not being an accountant may lead me down the wrong path, and I apologize if that is the case.  But I notice that because of the accounting policies that you use, that before you get to net income, you have a moving adjustment at the bottom, and this moving adjustment includes both puts and takes.

It removes certain costs out that you are transferring to regulatory accounts, but also adds certain costs back in that you are recovering for regulatory accounts for those years.  Have I got that, in my non-accountant lay term language, roughly correct?

MR. JOHN STEPHENSON:  That's a good characterization of it.

MR. HARPER:  Now, in the adjustments made for 2017 or 2018, were there any OM&A costs that were transferred out to the -- to the regulatory accounts?

MR. JOHN STEPHENSON:  No.  In fact, if you just looked at either year and looked at the delta between the power recovery account and the purchase power, that would be that regulatory difference.

So it is really more in the collection of regulatory and flow of tariffs and that type of movement that that line is capturing.  Right?  So that's why I say you can almost purify the statement by looking at the distribution revenue and the OM&A costs as being regular sort of costs of the company.

MR. HARPER:  No, fine.  No, thank you very much.  To be quite honest, the only reason I was asking was you use a different set of accounting policies than Hydro One does.  They don't have net movement, and I just wanted to make sure that when I looked at the OM&A it was apples to apples off of both financial statements.

MR. JOHN STEPHENSON:  I fully understand that.  And the OM&A is not affected by that movement.

MR. HARPER:  Okay, fine, thank you very much.

Now, I would like to turn now to the customer accounts.  And again, if I look at your response to VECC 9, if we go back to that.  You have customer accounts here for the -- you have actual customer accounts here for the different customer classes for 2017.

If I go again to the material that I distributed from the yearbook and if I look at the customer accounts for 2017 reported in the yearbook for Hydro One, to put it frankly, I don't see the same numbers for the customer classes as what you reported here in the response you gave to me.  And I was wondering if there was a reason for that as well.

MR. ANDRE:  Yes.  So unlike the financial numbers in terms of the number of customers that I can confirm, because my group is involved in the process, the customer numbers that would be in the yearbook, Mr. Harper, 100 percent include the numbers associated with Norfolk, Haldimand, and Woodstock, whereas the numbers you see in this IR response are just for Hydro One.

MR. HARPER:  And that is really the only difference between the two?

MR. ANDRE:  Yes.

MR. HARPER:  So if I look at the ST customers -- well, maybe we could get the right page up on there.  There should be a page here.  I think it is the third page in.

MR. ANDRE:  Actually, Mr. Harper, sorry.  You said that's the only difference and then you moved on.

These numbers come from my load forecasting manager, and they are the numbers that are produced, because you see it was with reference to the forecast from our DRO.

So those are the numbers that are used for load forecasting purposes, which are mid-year numbers, and they're produced -- you know, there's a consistent data set that tracks number of customers across all of the years, you know, that establish the trends, et cetera, on a consistent basis.

I believe the numbers reported for RRR come from our
-- for the yearbook reporting come from our customer system, and I believe they're year-end numbers as opposed to mid-year numbers.  So there will be differences between the number that you see, small differences, presumably, but between the numbers used for load forecasting, mid-year numbers, versus the numbers reported under RRR.

MR. HARPER:  You were doing great with me until you got to the word "small", because if I look at the ST customers, the yearbook shows a number of 544.  So ST customers I understand are the, you know, your large industrial customers and the distributors that are served from the distribution system.

So the yearbook has a number of 544, and the -- which is, I suppose, a year-end number.  The mid-year number you have given me here is 805.  And the difference between the two is by no means small, given that we're talking about distributors and large industrial customers.

So is there some other reason beside the two you gave me that would explain these differences?

MR. ANDRE:  So I will have to -- I will either have to take it subject to check, or given that hopefully we finish today we can do it via undertaking.

But I can tell you that the number that you see here in terms of the 822 and the 805, that refers to the number that would be used to develop the rates applicable to the ST class.  So there are customers that have multiple delivery points, you know, like a craft business, for example, would probably have multiple delivery points, which all would attract ST charges and therefore need to be factored into the rates calculation.

Given the magnitude of the difference, I suspect that what is reported for RRR is actual number of customers as opposed to delivery points which attract ST charges.

MR. HARPER:  So that would be the distinction -- your cost allocation model, the same thing, connections and customers?

MR. ANDRE:  Yes, I believe so.  But I think I can take an undertaking to confirm.  I don't know -- you know, like I said, the number for the RRR comes from our customer-service group.

MR. HARPER:  Well --


MR. ANDRE:  But that is the difference.  I mean, I don't know if the exact number matters, but I can tell you that these are delivery points.  The other ones are customers.

MR. HARPER:  The exact number doesn't matter.  It was the fact that there seemed to be a material difference in some cases, because we're using these numbers to come up with OM&A per customer.

MR. ANDRE:  Hmm-hmm.

MR. HARPER:  Particularly when we're looking at the residential and the general-service classes.  So I was concerned that for Peterborough and Orillia we're using numbers out of the yearbook, and for you we were using these numbers here, and if it was apples and oranges in terms of how we're looking at numbers of customers there is a big difference, then I wasn't too sure how valid the OM&A cost per customer when we're talking about comparisons would be.

MR. ANDRE:  So, yeah, I take your point.  Certainly for Hydro One, in terms of a per customer-type cost, the costs are allocated based on the number of ST connections.

So those numbers that you see there, the 800, are the appropriate numbers.  I would imagine that Orillia and Peterborough likely don't have the same issue with multiple delivery points associated with an individual customer for them.  So I don't think there is an issue, but...

MR. HARPER:  Okay, fine.  I think I understand the difference there.  That's fine for now.  Thank you.

Can we go to Exhibit -- staying with the Peterborough application, but I think it is going to be the same issue with Orillia.  Can we go to Exhibit A, tab 2, schedule 1, page 3 from the Orillia application?  It's the paragraph at the top of the page.  Exhibit A, tab 2, schedule 1, page 3.

Like I said, there is a very similar paragraph in the Orillia application, but here you are discussing the relative OM&A costs per customer for Hydro One versus Peterborough using 2017 values.

Now, I noticed that -- and for Hydro One you were using the values out of the draft rate order underpinning the approved 2017 rates.  Oh, is this Orillia?

MR. ANDRE:  Yeah, I think on the screen is Orillia.

MR. HARPER:  Okay.  I meant to go to Peterborough, but we can use either one.  I apologize.  So -- and I believe for the Hydro One numbers you were using values for the residential class out of the draft rate order that underpin the -- your 2017 rates, if I am not mistaken.

MR. ANDRE:  Yes, that's correct.

MR. HARPER:  Now, I notice that Hydro One's 2018 rates have been approved based on a draft rate order that include a cost allocation for 2018.  Is that correct?  And that was EB-2017-0049.  You got approved rates for 2018 now with an underpinning cost allocation?

MR. ANDRE:  Yes, that's correct.

MR. HARPER:  Right.  Would it be possible for you to update this paragraph?  I think the update for the numbers for Hydro One will be exactly the same for both Peterborough and Orillia using the values for Hydro One and the values for Peterborough and Orillia from -- the yearbook values for Orillia and Peterborough and your draft rate order values for Hydro One using 2018 data?

MR. ANDRE:  Yes.  We can do that.  We will take that undertaking.

MR. HARPER:  Now --


MR. MILLAR:  JT2.8.
UNDERTAKING NO. JT2.8:  TO UPDATE THE NUMBERS IN THE EB-2017-0049 DRAFT RATE ORDER AND COST ALLOCATION; TO PROVIDE AN UPDATED TO HYDRO ONE RESPONSES VECC 9, 10, 12 BASED ON THE 2018 DRAFT RATE ORDER AND UNDERLYING COST ALLOCATION.

MR. HARPER:  Maybe you can just hold that undertaking open, because I have a bit of a follow-up response to that.  Now -- and you can turn it up or not, but in responses
to -- this has to do with the Peterborough application -- in responses to VECC 9, 10, and 12 we asked for further details or breakdowns out of your draft rate order for 2017.  And I was wondering if it would be possible to get an update of the Hydro One responses to those interrogatories based on the 2018 draft rate order and the underlying cost allocation.

And we can look at them individually, but if you see VECC 9 there was a request for details coming out of your draft rate order for 2017, and we just wanted the same thing for 2018.

MR. ANDRE:  Sure.  So -- and VECC 9 and VECC 10, you said?

MR. HARPER:  VECC 9, 10, and 12 were the three that were all referencing the material that came out of that draft rate order and the cost allocation.

MR. ANDRE:  Yes, we can provide that.

MR. HARPER:  If you just add that to the same undertaking, that would be great, thanks.

I would like to follow up now on some of the questions raised yesterday with respect to depreciation.  If we could turn up VECC 19C from the Peterborough application, this was the table that I think was referred to a few times yesterday, and I just want to make sure I understand it correctly.  Right, this is the table right here.

Now, these were showing the difference in the asset category depreciation rates between Hydro One and Peterborough.  And if I understand it, there are -- as I understand it, there are two reasons for the differences here.

The first reason is that each category actually contains a mix of assets with different depreciation rates and because there is different weightings on those assets for each company, that gives us a different result in terms of depreciation rates.

The second reason is that the actual depreciation rate for each individual asset may be different between Hydro One and Peterborough.  So not only do we have a difference in weights, we have a difference in the values that are being weighted, and that's what gives rise to the difference we have here.  Have I got that correct?

MR. FLANNERY:  Yes.

MR. HARPER:  Yes, okay.  Out of all of the discussion yesterday, I just wanted to make sure I understood the bottom line.

MR. FLANNERY:  I think that is a very good summation of what we discussed.  It was definitely more succinct than the way I put it.

MR. HARPER:  It came up so many times, I just wanted to make sure I had it right.

So if the same mix -- maybe you can't answer this, but if the same mix was applied to both utilities and the only difference was the actual depreciation rates, do you have any idea whether the difference between these numbers would be bigger or smaller?

MR. FLANNERY:  Sorry, just repeat that for me so I can understand.

MR. HARPER:  We talked about how there were two differences, one was the actual depreciation rates and the other was the mix.

If we took, say, the Peterborough mix and we applied the Peterborough mix to the Hydro One distribution --


MR. FLANNERY:  If Hydro One invested the same amount of capital in exactly the same things, okay, so we removed the asset mix element.

MR. HARPER:  Right.

MR. FLANNERY:  The difference would then be the rates in the underlying studies approved by both LDCs.

MR. HARPER:  Right.  What I was trying to get a sense of is do you think if we did that calculation, these numbers would be closer together or further apart, or do you have any sense at all?

MR. FLANNERY:  Given that -- and I think the most effective one for us to look at is distribution plant, where ongoing the -- if we're talking about the ongoing ten or 11 years of capital spend, you know, almost 95 percent of the capital that both organizations intend to spend is going to be in that category.

So if I was to narrow it down there and remove the asset mix, my guess is that it wouldn't be -- it would be a guess and I don't think we could really ascertain that information easily.

One thing I did gain when I was talking internally to folks that were very close to the depreciation study that underpins Hydro One's approved methodology in rates by US of A, is that both the Kinectrics study which was mandated by the Board and the Hydro One distribution study by US of A, very detailed.

However, when Dr. White, who does the study to get us there, he does consult the Kinectrics' study, if you like, so that 2013, to make sure there is a comparison.  And what results he initially comes up with -- and there's no outliers and there's no spread, if you like, that's unreasonable between the two, so that they are comparable.

That leads me to believe that the majority of the difference you see here is really in the mix and the result of how each individual LDC invests, operates, maintains under their own individual stewardship.

MR. HARPER:  Thank you.

MR. SHEPHERD:  May I?

MR. HARPER:  Go ahead, Mr. Shepherd.

MR. SHEPHERD:  Did you say yesterday that somewhere in the evidence, there's a side-by-side comparison of depreciation rates?

MR. FLANNERY:  A side-by-side?  No, this is that.

MR. SHEPHERD:  The actual depreciation rates by line?

MR. FLANNERY:  No, I did not.

MR. SHEPHERD:  You have a list that you use, and there is the Kinectrics list that these guys use.  Is there a side-by-side comparison somewhere, or can you provide one?

MR. FLANNERY:  So we've been using the blended rates for forecasting out ten, 11 years.  I can't really talk to what exists at what US of A level, but I believe it's at -- both studies do chop it down to a US of A level.

MR. SHEPHERD:  So I am going to ask you to undertake
-- I know when you do your study, Mr. White does your study,  he actually then does a comparison of what numbers he came up with to the Kinectrics numbers.  So you probably have the list already, because they used the Kinectrics numbers, right?

MR. FLANNERY:  Right.  So just to be clear, what you're saying is you want the Kinectrics numbers by US of A, and then the Hydro One, Dr. White's by US of A.

MR. SHEPHERD:  Yes.  Just a list so we can see --


MR. FLANNERY:  Absolutely.  If I can go and get that for you, I certainly will.

MR. MILLAR:  JT2.9.
UNDERTAKING NO. JT2.9:  TO PROVIDE THE KINECTRICS NUMBERS BY US OF A, AND THEN THE HYDRO ONE, DR. WHITE'S BY US OF A


MR. HARPER:  Now, my understanding, if I am correct again, is that regardless of which depreciation rates you are using, at the end of the day when it is all said and done, customers pay the same amount in total in depreciation over time.  It is just a matter of when they pay it.

I mean, if you assume a service life is 20 years in one case and 22 years in another, at the end of the day, the total amount of depreciation that customers are going to pay in both cases is going to be the same.  It is a matter of when they pay it.  Am I correct?

MR. FLANNERY:  That's correct.  I mean, at the end of the assets' useful life, it will be fully depreciated over a certain period of time.  Depending on...

MR. SHEPHERD:  Sorry.  It is true, isn't it, that because you only rebase periodically, the customers don't actually pay the actual depreciation you claim each year in rates.  Right?

MR. FLANNERY:  Sorry?  The gentleman's question was that -- it was more of a theoretical one that said over time, yes, you will depreciate it over the useful life.  So the answer to that is yes.

Sorry, your question is?

MR. SHEPHERD:  At any given point in time -- because of the IRM methodology that we use, at any given point in time there will be a difference between the rate base that you are calculating and the rate base that is actually being paid for by the customers, particularly if you change the accounting rules.

MR. FLANNERY:  Right.  So annually, there is not always a direct connection between depreciation charged and depreciation recorded.

And that is the nature of the Board's renewed framework, in that you set cost of service based in year one, and then you do an IRM that saves a lot of costs for the industry and the LDC and everyone involved.

And you continue to charge those customers, plus a bump-up, less efficiency, based on that cost of service.  And theoretically, at the end of year five, hopefully it hasn't -- you know, I think both Peterborough and Orillia testified that by the end of year five, you are getting to a point where you now could be earning less and you do need to have that rebasing occur, so you can get back to the underlying -- the rate base and the results that you are experiencing.

MR. SHEPHERD:  Actually, theoretically, it is supposed to work the other way around.  In theory, when you come to rebase, the customers are supposed to get rate reduction because of all of the efficiencies you have driven.  But it's never happened here and I just say that because I am a dreamer.  What can I say?

MR. HARPER:  I apologize for my ill-formed question, but thank you, Mr. Shepherd, for clarifying that.

Can we turn to the Orillia application and the response to Schools 15, which is Exhibit I, tab 2, schedule 15?  Go to the top of page 2.  And here you state that you consider the lower cost due to Hydro One's lower depreciation rates to be a synergy saving.

I guess what I was trying to understand and -- what I was trying to understand is, given that there is no real decrease in total depreciation expense, it is just a matter of when it is expensed, how can a change in depreciation rate be considered a synergy saving?  It isn't like you are actually saving money.  You are just changing the time profile over which a particular asset is expensed.

So I was wondering if you could help me understand how or why this is a synergy saving.

MR. FLANNERY:  I think the response was provided just in terms of the lens of the particular period of the deferral period that we were being asked to analyze.

MR. HARPER:  Okay.  Is it fair to say that for all other synergy savings you're claiming you're achieving, say through OM&A, those are savings that are going to last beyond the deferred rebasing period and are going to continue on in time?

MS. RICHARDSON:  That's correct.

MR. HARPER:  Okay.  Thank you very much.  Actually, I am getting into an area that may take a little bit more time.  If now is a convenient time to break for lunch it might be good to do so.

MR. MILLAR:  Yeah, why don't we do that.  Let's get a time check.  How much more do you have, Mr. Harper?

MR. HARPER:  Well, actually, I was -- I think I talked about an hour and a quarter to begin with.  I think I am sort of bang on where I thought I would be at this point.

MR. MILLAR:  And how much will you be, Ms. Girvan?

MR. HARPER:  Probably about another hour, I think.

MR. MILLAR:  Ms. Girvan, how long will you be, do you think?

MS. GIRVAN:  I'm going to check over the lunch.  A lot of my stuff has been covered, but probably 20 minutes, maybe.

MR. MILLAR:  Okay.  Let's come back at 1:30.
--- Luncheon recess taken at 12:27 p.m.
--- On resuming at 1:30 p.m.

MR. MILLAR:  Okay, everyone.  We are at 1:30, so why don't we get started again.  Any preliminary matters?

MR. KEIZER:  No.

MR. MILLAR:  Okay.  Mr. Harper?
Examination by Mr. Harper (Cont'd.):

MR. HARPER:  Thank you.  I wonder if we could start again by -- and this is from the Peterborough application, and turn to Exhibit A, tab 2, schedule one, page 2.

This is just the table -- I think it is towards the bottom the page -- setting out the projected savings.

I want to look first at the capital savings, which -- and I think we talked about this yesterday, and you indicated that over the ten years, the savings were about $6.1 million, or a little over 600,000 a year on average?

MR. FALTOUS:  That's correct.  So if you look at the sum of the total of ten years, between the status quo and the Hydro One forecast, it is about $6.1 million.

MR. HARPER:  I also understand from the discussions yesterday the status quo forecast was prepared by Peterborough, and the Hydro One forecast was prepared independently by Hydro One.

MR. FALTOUS:  That's correct.

MR. HARPER:  Okay.  What I was wanting to understand is in preparing the capital forecast, it seems one of the critical issues is growth, how many new customers are you going to be connecting every year because that is one of the areas of capital spending.

I was wondering did Hydro One and Peterborough use the same assumptions with respect to customer growth when they were developing their forecasts?

MR. FALTOUS:  So I can tell you that for Hydro One, if we go to OEB Staff 17 -- so Exhibit I, tab 1, schedule 17
-- in attachment 1, we have listed for the Hydro One forecast all of the assumptions that were made in developing this forecast.

And one of those is -- it is the third bullet under the Hydro One forecast, it says:  "Customer growth based on Hydro One's assessment was approximately 1 percent per year."

MR. HARPER:  Maybe could I get a comment from Peterborough in terms of preparing their status quo forecast, whether that is similar to the assumption they used or whether they used a different assumption with respect to customer growth.

MR. JOHN STEPHENSON:  The customer growth assumption we used is 0.8, so a little less than that.  I would add it is not really driving our capital forecast because of that; it is really the infrastructure deficit.

MR. HARPER:  Now, yesterday there was a fair amount of discussion, I think, seeking further details on Hydro One's capital spending forecast for the residual requirement, and there was an undertaking, JT1.9, on that to provide more details.  I understand that is still pending.

But I would like to turn to your response to OEB Staff-17 from the Peterborough application.

If we scroll -- actually right there is great because I think here you indicate that in preparing the forecast, you looked at a number of specific functions.  There's about 11 of them listed here that you looked at.

Given that you looked at these 11 functions, I was wondering whether there is any reason you couldn't break down your capital spending forecast for both Peterborough and -- because same response applies to Orillia, into these 11 functional areas, if those were the ones you considered when you were developing your forecast.

MR. FALTOUS:  So if I can take you to VECC 25, which is Exhibit I, tab 4, schedule 25, in attachment 1 of this response, we have essentially done a breakout of our capital expenditures.

So if you look at -- you have it up there?  Perfect.  So you can see that there's four categories there:  existing customers, lines, infrastructure, stations and growth.

Essentially, those are the four categories that we're showing here of capital expenditures.

So existing customers would be primarily metering capital work that's needed.  Lines infrastructure would be all capital work associated with lines investments, so things like wood pole replacements, line transformer replacements.

Trouble, capital trouble, capital storm damage on lines.  Stations would be all of our stations capital investments, so that could be station refurbishments or replacements, or addressing components within stations.

Then growth would be connecting new customers as well as any system enhancements needed to create additional capacity on the system.

MR. HARPER:  Like I understand there is four here.  I was just wondering given you actually seemed to have looked at it in a greater level of detail in the different areas, I was wondering why you wouldn't have been able to prepare -- put in similar detail with eleven rows instead of four rows.

MR. FALTOUS:  So as I mentioned yesterday, I mean we did look at all of the areas of investment that are needed and we developed a forecast, a capital forecast in order to prudently manage the assets of Peterborough within those areas.  And I think that's part of the undertaking that we have.  We'll be reviewing that and providing an additional level of detail.

MR. HARPER:  My point here was to encourage you to look at it from this perspective as well, because it seemed you had the information.

Now, given this one we have up on the screen, this applies to Peterborough, if I am not mistaken, correct?

MR. FALTOUS:  That is correct.

MR. HARPER:  Is there a similar level of detail with the four different categories for Orillia?

MR. FALTOUS:  There is.  There is and I would point you to in the Orillia application, it is under VECC 9.  So it is Exhibit I, tab 5, schedule 9.

MR. HARPER:  Great, thank you.

MS. GIRVAN:  Can I just interject?  With respect to these forecasts, I am having trouble understanding the involvement of both Peterborough and Orillia.

So all of this analysis and those numbers specifically that we were just referring to, they were all developed independently by Hydro One without consultation with Peterborough/Orillia?

MR. FALTOUS:  That is correct.  So to clarify, we are looking at all of the investment areas that are needed in order to prudently manage the assets of, let's say, Peterborough.  And so we would have received information on their assets, demographics information including age and condition.

We would have also collected some of our own condition information and based on that, we would have determined the appropriate level of investment that was needed in order to prudently manage those assets, and ultimately developed a forecast capital plan, an envelope level, in order to be able to manage the assets and manage their system.

MS. GIRVAN:  But you didn't go back to them and say do we have this right?

MR. FALTOUS:  No, we did not, because ultimately we used the underlying information to determine the level of investment that we as Hydro One would need to manage their system in a prudent fashion.

MS. GIRVAN:  So you didn't consult with them at all?

MR. FALTOUS:  No, because they may have -- so I mean for one, you know, approach to certain investments may be different.  We also have the surrounding service territory.  So we may have other options.  We may have other tools in the toolbox that we can use to mitigate risks on the system that they may not have.

So ultimately, we looked at it to say if we as Hydro One were managing the system, what are the things we would do and what level of capital funding would we require to prudently manage those assets.

MR. LADANYI:  Can I ask a question?  I am really surprised by your answer.  Like didn't they send you a bunch of information at all?

MR. FALTOUS:  They did, and that is what I mentioned, right.  So they sent us information on their assets, so age information, demographics information.

We obviously needed to know what the characteristics of their system looked like; how many kilometres of line do they have, how many kilometres of overhead, how many kilometres of underground, all of those things which ultimately we then used to say, okay ,what is the level of investment that we would need to manage a system with these assets, with these characteristics.

And, you know, if there was certain conditions of assets that needed to be addressed in the near term, we made sure we were accounting for those as well.

MR. LADANYI:  So Hydro One sent out a crew of engineers, let's say, to have a look at what these assets really looked like?

MR. FALTOUS:  We did go out.  We did some PIL controls and we would have collected information on the assets as ell, to see what kind of condition those assets were in.

MR. LADANYI:  Thank you.

MR. HARPER:  Just before I leave the capital forecast part of it, I just want to understand from your sort of risk asset management process and planning process, does affordability come into that at all in terms of looking at, you know, how much money is this going to be cost in total and whether I think this is affordable from a rate perspective?

Does that lens at all -- does that lens at all apply when you are doing your capital spending forecast?

MR. FALTOUS:  Are you asking about whenever Hydro One is doing a capital spending forecast, is that considered?

MR. HARPER:  You talked about how, in developing the forecast for Peterborough/Orillia, in part it was by overlaying the spending pattern that you have over top of their -- you know, that was your first step.

I guess when you were doing your planning, is affordability an issue in terms of -- an issue that is a lens through which you are developing your plan?

MR. FALTOUS:  It absolutely is.  So whenever we are developing our plans, we are always looking to develop plans that will mitigate the risks that are needed in the most cost-effective manner and nothing more.

So we are always thinking about, rather than -- you know, we're not just looking to put in a whole bunch of investments that are unneeded.  We are only looking to address the needs of the system in order to operate a safe and reliable system without overspending, and always looking at what is the most cost effective approach to do so.

MR. HARPER:  I was thinking about affordability in a slightly different context.  That was in the context of, what's the total cost, and given this gets worked into rates I really can't afford to spend any more than this in a particular year, regardless of what is required.

Is that lens applied from a planning perspective?

[Hydro One panel confers.]

MR. FALTOUS:  So the answer is yes.  And as part of the development of our plan, which ultimately feeds into our cost-of-service applications, we go through a customer consultation process that is all about, you know, what are the customer preferences, what are the customer needs.

Affordability is, no doubt, one of the ones that always comes up, and it is always very high on the list, if not top of the list, and so that is one of the considerations that goes into our planning process, is affordability of our end customers in mind.

MR. HARPER:  The reason I was asking was I was wondering, obviously, you know, you are planning for Peterborough, you're planning for Orillia, you're planning for a lot of other areas in the province, and whether in part of that planning -- part of your planned spending for these two areas, basically, are they in some way -- in any way competing for funds against other parts -- legacy parts of your system in a way that, if they're being operated separately, they wouldn't be competing for funds?  I guess that was the -- that was the issue I was trying to wrap my head around.

MR. FALTOUS:  So within the ten-year period there will not be -- essentially the funding that we have here, you know, we will not be able to, for example, use capital dollars that we're forecasting for Peterborough to do Orillia work or Hydro One work.  I mean, all of the costs will be tracked separately for them.

However, beyond the ten-year period when they are sort of, you know, part of the Hydro One system, overall, you know, we do prioritize across the system, and we're ultimately looking at, you know, what are the needs and ultimately just making sure that we are addressing the needs in a manner that is cost-effective.

MR. HARPER:  You talked about tracking.  Maybe to put the question back in your words again, during the ten-year period was the prioritization of spending for Peterborough and Orillia affected in a way by, you had other priorities elsewhere in your system that superseded the priorities of what was viewed as being necessary in the Peterborough and Orillia service areas?

[Hydro One witness panel confer]

MR. FALTOUS:  So the answer is no.  I mean, ultimately what we are doing is we're looking at what is needed in order to maintain the Orillia system, what is needed in order to maintain the Peterborough system.  And ultimately our goal is to operate a safe and reliable system, and when we are doing our forecasts it was with that in mind.  It is ultimately, how do we maintain a safe and reliable system with costs, obviously, in mind, because we know that affordability is always a concern.

MR. HARPER:  Okay, fine, thank you.

Can I turn -- this is still within -- sorry to be picking on Peterborough all the time, it just seems we are bouncing back and forth between applications.  Can you open your response to OEB 46 from the Peterborough application?  I think we just touched on this.

Here you indicate -- I'll seem a little -- as being open -- going forward you would be tracking any incremental capital spending attributable to the former Peterborough system, and I assume the same issue and the same response applies with respect to Orillia.

During the period you'll be tracking incremental capital and incremental OM&A spending associated with each of these specific utilities.

What I was struggling with in my mind is, particularly on the capital side, do you anticipate there being any capital spending where the beneficiary would include both customers in the PDI service area and in your legacy area?  Or in the case of Orillia in the Orillia service area and the legacy area such that there isn't a clean-cut, yes, this is incremental capital station or line or whatever it is, just for PDI, because the beneficiaries are both legacy customers?  And one of these two acquired utilities?  Or will it be a clean-cut yes or no on every single case?

[Hydro One panel confers.]

MR. FALTOUS:  The forecasts included here are really meant to mitigate risk associated with the Orillia or the Peterborough customers and not for anything on the Hydro One system.

Now, I will say that we will always look for, you know, what is the most cost-effective solution.  I mentioned this earlier.

So if there is a means to mitigate risk on the system in a way that is more cost-effective but ultimately is mitigating the risk for the Peterborough customers but it is more effective to do something, let's say, within the surrounding Hydro One system, but for mitigating risks for the Peterborough customers, that is definitely something that we would consider.

MR. HARPER:  Maybe let me finish this off.  I know Ms. Girvan wants to follow this up.  I just want to wrap this one up.  so I guess what I was wondering about, in those cases, like, would you have to come up with some -- where you would allocate a portion of that spending and deem a portion of that spending as being incremental to the Peterborough system or to the Orillia system?

You know, I was just wondering how this ability to track is easy if it is all or nothing, but if it is bits, do you anticipate maybe in those cases having to do some allocation of costs between what is incremental to Peterborough as opposed to incremental to the legacy system?

[Hydro One panel confer]

MR. FALTOUS:  Sorry.  I mean, it is a bit of a hypothetical question, right, because we don't have a specific scenario that we are actually talking about here, so it is difficult to say, you know, with 100 percent certainty.

But I think if the -- if we undertake an investment that is benefiting Hydro One customers and there is a benefit to Peterborough as a by-product of that, then it would not be charged to Peterborough.

If we are undertaking an investment that is purely for the benefit of Peterborough, then it would be charged to Peterborough.  And I think, you know, outside of that it's very hard to say whether or not there would be such a hypothetical scenario that, you know, may cross those boundaries.

MR. HARPER:  Okay.  This is something -- I doubt if any of us will be here 11 years from now when we have to think about that at that point in time.  Okay, thank you.  I think Ms. Girvan had a follow-up.

MS. GIRVAN:  Yeah, just to follow up -- I'm getting -- and Andrew talked about this yesterday.  I am still having trouble understanding these incremental costs and how you are going to track them.

Are you going to prepare some sort of report for the OEB?

MS. RICHARDSON:  So part of our -- so basically during the deferral period we're tracking costs basically to meet the OEB's requirements that we have had in our previous MAAD application, where they have asked us to track the cost to show the savings that we have achieved, so comparing what is in our Exhibit A-2-1, table 1 with what our actual achievements were.

So we have done that in our distribution rate application for Woodstock, Haldimand, and -- Norfolk.  I blanked there.  So we report them along the same manner as that.  So those are for reporting purposes.

For ratemaking purposes, we will be using -- we will continue to track our capital cost beyond the deferred rebasing period, but that is for ratemaking purposes, not to report on our savings.  And those will be used for the adjustment factors verification.  Does that make sense?

MS. GIRVAN:  Sort of.  I am not entirely clear, but go ahead, Bill, sorry.

MR. HARPER:  Okay.  Maybe if I continue on with this response to OEB 46.  You indicate that you are going to continue to track incremental capital costs associated with Peterborough and Orillia after the ten-year deferral period.

Now, I guess what I was wondering about -- you've indicated that during the ten-year deferral period, the incremental spending that you are -- the incremental you are tracking does not include capitalized overheads because you don't believe they're incremental.

I guess I was -- for the period post the deferral period, when you continue to track capital spending, are those capital costs going to continue to exclude capital overheads, or will you be tracking them with capital overheads?

MS. RICHARDSON:  They will be tracked with capital overheads.

MR. HARPER:  I just wanted to understand the difference, okay, great.  That would be the case for both utilities?

MS. RICHARDSON:  Yes.

MR. HARPER:  I would like to move now -- maybe we can see where we go.  You may not have to call it up, but in both the application and in your response to CCC number 4, this is with respect to the Peterborough application, you indicated this were currently no plans to do so, but you would utilize an ICM module during the deferral period if it is necessary.

I think it is CCC number 4; that is tab 7 in Exhibit I.

MS. RICHARDSON:  Yes.

MR. HARPER:  Now, you are aware that sort of an application for an ICM requires justification that the amounts being sought are directly related to the cause, which could be clearly demonstrated as being outside the base on which the rates were actually set.

That's one of the specific requirements for an ICM application?

MS. RICHARDSON:  There's been a bit of a change in the MAAD policies.  Let me just pull those up.

So in the Energy Board's handbook to electricity distributor and transmission consolidations, January 19th, 2016, it said the ICM is now available for any prudent discrete capital project that fits within an incremental capital budget envelope, not just expenditures that were unanticipated or unplanned.  To encourage consolidation, the 2015 report extended the availability of ICM for consolidating distributors that are in annual IR, thereby providing distributors with the ability to finance capital investments during the deferral period without being required to rebase earlier than planned.

So we were just basically requesting that if we need to -- and right now we're not anticipating there is a need -- that we want to make sure that as it is written in the handbook, that we would have that option.

MR. HARPER:  I guess what I was concerned about -- and maybe it goes back to the level of detail we have on the capital spending -- is whether the level of detail we have on what you have planned to do on capital spending is sufficient enough that one can then understand if you come forward with a particular item seeking an ICM, we actually have the base information to make the proper determinations, I guess.

You read pretty quickly there, so I may have to go back and think about this.  But if you would like to make a comment on that -- because that was my concern when I was thinking about it.  I can go back and think about it, but if you would like to comment on that right now, I am more than willing to have you do so.

MS. RICHARDSON:  I understand where you are coming from.  So when we wrote that, what we were anticipating would be something more in the lines -- like a storm has come by and caused major damage, or something in the ideas like -- I don't know, like there's new infrastructure, like smart meters a number of years ago, modernization of the grid, something that would not have been accounted for or anticipated today that could be anticipated within the next 10 years, which was not -- which we -- it was unplanned for.

MR. HARPER:  Okay.  Because I was concerned about -- you know, we talked whether six stations are being done, and then if you say, well, we have a seventh one, was it in the plan or not in the plan.  But if it is more discrete, I understand.  I think Ms. Girvan...

MS. RICHARDSON:  That was the intention and we would fully expect we would have to come to the Ontario Energy Board and seek approval for that.

MS. GIRVAN:  I had a follow up on that, and it is one of my questions.

Let's say, for example, something happens in Peterborough and you've decided you want to apply for ICM relief during this plan.  How is that consistent with the commitment to Peterborough's customers to keep rates at one percent below current rates for the term of the plan?

MS. RICHARDSON:  So I would say if we applied for an ICM, that would come in through a rate rider.  So physically, the distribution rate would still remain at the one percent lower rates.

And what we would be seeing is that those are costs that have would have been incurred regardless of who owned the utilities.  They're not something created because we didn't forecast those costs.  It is something that was truly unanticipated or unexpected.

MS. GIRVAN:  But your commitment to those customers is the one percent decrease, and you'd be seeking additional...

MS. RICHARDSON:  Base distribution delivery rates.

MS. GIRVAN:  That may be semantics, but it seems to me it would be in violation to that commitment to the customers.

[Hydro One panel confers.]

MR. HARPER:  Was there anything else you wanted to add?

MS. RICHARDSON:  I am trying to figure this out.  Sorry, I think, Ms. Girvan, we were just saying that they will be seeing that one percent reduction in the rates,  regardless.  That's going to happen upon close of the transaction, if we get Ontario Energy Board approval.

And then any time during that -- so let's say in year seven or eight there is some need for an ICM, so they will have that reduction in the first five years, and in year seven, the one percent has gone off anyways. They go back.  We apply for the ICM, but they are getting the benefit of that up until the time of a transaction.

In our minds, it still is a decrease in the distribution delivery rates.

MS. GIRVAN:  But if it happened in the first five years, it wouldn't be?

MS. RICHARDSON:  Again, the base distribution delivery rates would have decreased.  It is just the rate rider.

MS. GIRVAN:  I am not sure customers would understand, but thanks.

MR. HARPER:  Okay.  I just had one quick to close the -- to sort of close the books off on capital spending, just one question with respect to the Orillia application that was.

We talked earlier about the difference -- what difference there might be in forecasts with respect to customer connections on the Peterborough side.  And I was just wondering on the Orillia side, in terms of the status quo forecast versus Hydro One's residual forecast, and it's probably in the reference you just put the numbers -- what was the assumption you used from a Hydro One perspective in terms of customer growth in Orillia when you prepared your sort of residual forecast?

MR. FALTOUS:  It was approximately one percent, and it is referenced in attachment 1 to Exhibit I, tab 1, schedule 19.

MR. HARPER:  Maybe I could just get the Orillia people to comment on how that compares with the customer connection growth they used in their forecast.

MR. HURLEY:  We are also at one percent per year over the 10-year period.

MR. HARPER:  Okay, fine.  I just wanted to make sure we were aligned on that.  Okay, that's great, thank you very much.

I would like to turn to OM&A now.   You probably don't have to turn it up, but if we go back to the PDI application in that same Exhibit A, tab 2, schedule 1, page 2, that same table we looked at had not only sort of a comparison of capital spending, but a comparison of OM&A spending.

I guess we have talked about customer growth.  I was just wondering when it comes to sort of whether it be call it material inflation rates or wage inflation rates, what sort of assumptions Hydro One used in its forecast versus what Peterborough used in their forecast looking forward in terms of doing their OM&A forecasts.  Maybe we could start with the Hydro One first.

MR. FALTOUS:  The assumption around inflation is also captured in attachment 1 to Exhibit I, tab 1, schedule 17, for the Peterborough application, and it was 2 percent per year.

MR. HARPER:  And does that align -- I am curious how that aligned with what Peterborough used in their forecast.

MR. JOHN STEPHENSON:  Our assumptions are in the attachment 3 to Exhibit 1, I-1-17, our projections.  And our operating expense growth is forecasted to be in the range of 2.3 to 2.5 percent throughout the 10-year period.

MR. HARPER:  Fine, thank you.  Maybe rather than cycling back, if we could maybe - was it the same 2 percent used for the Orillia application?

MR. FALTOUS:  It was.

MR. HARPER:  How would that compare with Orillia's assumptions?

MR. HURLEY:  It is also two percent.

MR. HARPER:  Thank you very much.  Now could we turn to -- staying with the Peterborough application, your response to OEB 17, attachment 2, page 3.

And I know they're small, but I am trying to close this off.  I can understand what operations are.  Those are probably incremental costs that are neither shared, they're not shared costs, they're incremental operating costs.

Would I have that correct?

MR. FALTOUS:  So that is correct.  This would be the additional costs for the OM&A operations piece for Hydro One.

MR. HARPER:  But I guess in the context, we had a lot of discussion yesterday about shared costs.  These would not be -- I think it was the -- you know, perhaps in the language that Mr. Andre was using, these are not shared costs.

MR. FALTOUS:  So I think to clarify, like, you could see that the next item is customer care.

MR. HARPER:  I was going to get to that, yes.

MR. FALTOUS:  Okay.  Yeah.  And so customer care, you know, we would generally refer to this as shared costs, but there is incremental customer-care costs with taking on a lot more customers, so that would be representing the incremental portion of customer-care costs.

MR. HARPER:  I understand.  I was just trying to categorize them, because yesterday we were talking about what were shared costs and what were not shared costs.  And I just wanted to clarify, because I appreciate -- and I think we clarified yesterday, customer care was in the shared-cost category.

MR. FALTOUS:  It is shared, but there is also an incremental element of cost.

MR. HARPER:  I fully understand that.

MR. FALTOUS:  Okay.  Just to make sure we're on the same page.

MR. HARPER:  I was going to mention, yes.  And I guess the other not captured above, would those typically be shared costs as well?

MR. FALTOUS:  No.  The other not captured above is not shared costs, it is mostly made up of property taxes as well as some additional costs associated with, you know, potentially having staff that are non-optimal locations for the first couple of years.

MR. HARPER:  What I was curious about, I was looking at the customer-care costs and the annual escalation of those customer-care costs, and I noticed that, you know, between years three and years ten the escalation seems to be in the order of about just a little over 1 percent a year.  It isn't 2 percent a year.  And I was just wondering about the basis for that escalation rate, given your earlier assumptions about comments about what you are assuming for inflation.

MR. FALTOUS:  I would need to check for you.  I can't do that calculation right now.

MR. HARPER:  I mean, I guess there is two issues here.  One, if my calculation is (sic) correct my question is totally inappropriate and we can stop there.  If my calculation is correct, then I guess I was interested in knowing if there was some specific assumptions you were making about increased efficiencies in the customer-care area that you were going to be able to gain over this period that would virtually cut the escalation rate in half.

[Hydro One panel confer]

MR. HARPER:  And you can take that away.  If you would rather do this by way of an undertaking, take that away, check my arithmetic, if it is wrong, you can slap me on the wrist, and if it is correct you can answer my question.  That would be the easiest way to do it.

MR. FALTOUS:  We will take it as an undertaking just to make sure it is correct.

MR. HARPER:  Fine, thank you.

MR. MILLAR:  It's JT2.10.
UNDERTAKING NO. JT2.10:  TO CLARIFY ASSUMPTIONS AND ANNUAL ESCALATION IN CUSTOMER CARE COSTS.

MR. HARPER:  Maybe we could turn to -- it is in the same -- similarly in the Peterborough application, your response to VECC 7, part C.  And maybe the table there on the second page.  And I know you were talking with Mr. Ladanyi about this earlier today.  I guess you were talking about how you had done this by looking at your forecast, Peterborough's forecast, and coming up with the difference.

It seems to me that in order to create this table you must have had a -- you must have been able to break down in some way the OM&A from the Peterborough forecast at least into these categories and the OM&A from your forecast into these categories in order to calculate the difference, it seems to me the only way you can do it.

So I was wondering, if that's the case, whether you can give us the overall forecast for both Peterborough and yourselves broken down into these categories.  One would sum up to your OM&A residual forecast, the other would sum up to the Peterborough forecast.

[Hydro One panel confers]

MR. ANDRE:  Just bear with us, Mr. Harper.

[Mr. Faltous confers with Mr. John Stephenson and Orillia Power panel]

MR. FALTOUS:  So we will take it away and see what we can provide as an undertaking, so as an undertaking we will see if we can provide that level.

MR. HARPER:  Okay.  And this is with respect to PDI.  A similar table exists for Orillia, and that's in response to OEB 3B within the Orillia application.  Can you do the same thing for Orillia?

MR. FALTOUS:  Yes.

MR. HARPER:  Fine, thank you.

MR. MILLAR:  It's JT2.11.  Mr. Harper, can you repeat what the undertaking is?  I have just forgotten in the time -- there was a discussion.

MR. HARPER:  Yes.  To -- maybe I will do this in the context of the Peterborough application, that is with respect to VECC 7C provide the forecast for Hydro One residual OM&A and Peterborough's status quo OM&A broken down to the level of detail shown in table 2, such that the differences reconcile with the amounts shown in the response.
UNDERTAKING NO. JT2.11:  WITH RESPECT TO VECC 7C, TO PROVIDE THE FORECAST FOR HYDRO ONE RESIDUAL OM&A AND PETERBOROUGH'S STATUS QUO OM&A BROKEN DOWN TO THE LEVEL OF DETAIL SHOWN IN TABLE 2, SUCH THAT THE DIFFERENCES RECONCILE WITH THE AMOUNTS SHOWN IN THE RESPONSE.

MR. FALTOUS:  So Mr. Harper, perhaps I can just clarify one thing.  The Hydro One OM&A numbers are in the table, and it's in the exhibit that we were looking at for OEB Staff 17, so it was basically those three categories of operations, customer care, and other.

The other areas are basically areas that would have no incremental cost.  So those areas would essentially be zero.  So really it would be the difference between -- it would essentially be the status quo forecast, so Peterborough and Orillia's forecasts, it would be their costs in those areas.  That's where -- in these categories, such as, for example, management corporate governance, that is where the savings are coming from.

MR. HARPER:  Well, I guess then it seems to me the easiest way is in your response provide a zero for the status quo forecast.

MR. FALTOUS:  Understood.  I just wanted to clarify that Hydro One's forecast will not have an element in all of these categories.  It will be zero in a lot of them.

MR. HARPER:  That's fine.

MR. FALTOUS:  Yes.

MR. HARPER:  It we could just turn briefly to the Orillia application.  This would be the response to OEB 19, attachment 2, page 3.

I guess I was looking at this through the same lens I was looking at the Peterborough distribution application, and your earlier response we've talked about there.

Would I be correct that the other not captured above is similarly, as you talked about, it is property taxes and other items that would not be shared costs?

MR. FALTOUS:  That is correct.

MR. HARPER:  Okay, fine.  Again, when I looked at this one, I noted that after you get beyond year four, the annual increase in customer care costs is again substantially less than the 2 percent.

In this case, I calculated it at about 1.4 percent per annum is what the customer care costs were increasing at.  So I was wondering if you could look at that and comment on that in the same context as you had undertaken to look at the Peterborough one.

MR. FALTOUS:  We can.

MR. HARPER:  Maybe if you want to include that either as a separate undertaking or part of the previous one, I am happy either way.

MR. MILLAR:  Let's leave it as the same one.

MR. HARPER:  I would like to move on to another area now.  This is looking at your 2030 sort of -- I think these all primarily will be for Hydro One, because it is looking at your forecast revenue requirement for 2030 and subsequently the cost allocation that you have done to that.

If we could turn up -- it is within the Peterborough application, your response to OEB 48, and go to page 8.

If I could maybe ask you to hit the plus sign once for my weak eyes, that would be great.  Thank you.  That's great, thank you very much.

I think here you indicate that for year 11, the consolidated revenue requirement for Hydro One consists of the legacy customers' revenue requirement for the year, plus the residual revenue requirement for the Peterborough customers.

MR. ANDRE:  That's correct.  Yes, that's correct.

MR. HARPER:  I think for the residual revenue requirement, you gave a reference which was Exhibit A, tab 4, schedule 1, table 4.

In that reference, there are actually two numbers.  There's a number for residual revenue requirement without LV costs and a number with LV costs.  I was wondering which of those two numbers was the one that you used in this particular application.

MR. ANDRE:  It would be without LV costs.

MR. HARPER:  Okay, fine.  So if I subtracted the two, that would give me the number for your revenue requirement in 2030 for the legacy portion?

MR. ANDRE:  That's correct.

MR. HARPER:  Okay.  Could we turn to your response to OEB number 3?  That is again from the Peterborough application.

Can we just scroll down to the table.  Here I guess I am dealing with the PDI portion.  Here you show that in the consolidated in year 11, the revenue requirement is $22,577,600.

I was just wondering if you could clarify for me -- I just want to understand.  Does this number represent the costs that are allocated through the cost allocation model?  Or are these the costs that you are going to subsequently -- because you have revenue-to-cost ratios, the revenues you're actually going to subsequently collect from the PDI customers.

MR. ANDRE:  Right.  So, Mr. Harper, you have two parts and it is slightly different for both parts.

First off, in I-1-1-3, this was done back in February.  So as you are probably aware, there is an equivalent of this table that leverages the results from the cost allocation model and rate design process.

So that would be the first step, is you need to turn to SEC Exhibit I, tab 2, schedule 44.

MR. HARPER:  Actually if you could turn there, because I thought they all reconciled, so you may have solved a lot of my questions here.  Because I had a lot of questions trying to reconcile these numbers with the numbers you filed in the second round of responses to IRs and I couldn't get them to reconcile.

What you're saying is this table I should ignore.  And the appropriate table is the reference that you just gave me?

MR. ANDRE:  Exactly, SEC 44.

MR. HARPER:  Okay.

MR. ANDRE:  Then in terms of the second part of your question, so the number there, the equivalent number there is the $20,550,000, and that is the revenue that would be collected from those PDI customers.

MR. HARPER:  Right.  Then when you go down, I think there is a comparable part for the Hydro One part, and that's with consolidation and that would show the revenue to be collected from the, you know, the revenue
collected --

MR. ANDRE:  That's correct.

MR. HARPER:  -- it's the same -- okay, no, that's fine.

MR. ANDRE:  So it's the revenue collected.  So it's got some of the revenue that has been -- that's being collected from the PDI customers, to the extent that there's been some shared costs that are now being collected.  The combination of those two is the -- aligns with the cost allocation model.

MR. HARPER:  It also has the fact that for most classes, the revenue-to-cost is one sort of thing.  So it isn't the allocated costs; it is the costs that will be collected.

MR. ANDRE:  Collected, that's correct.

MR. HARPER:  I have to figure out where I am now, now that you have managed to --

MR. ANDRE:  Skip through a few questions?

MR. HARPER:  Exactly.  That's great.  So if we could go back to that OEB 48, that is from the PDI application, page 8, starting at about line 5 here.

I was looking at the legacy portion.  Now, you talk about the legacy customer portion being based on the average growth rate from 2017 to 2022 as approved in the application.

Now, for 2017, did you use the actual revenue requirement for 2017, or the approved revenue requirement for 2017?

MR. ANDRE:  I think there's a footnote there that says "2017 approved revenue requirement."

MR. HARPER:  Okay, fine.  Again it was probably my glasses not getting that.

That was increased in revenue requirement as opposed to rate increases, then?

MR. ANDRE:  Yes, that's correct.

MR. HARPER:  Okay, fine.  Just out of curiosity, roughly what was that growth rate that you ended up with when you did that calculation?

MR. ANDRE:  Sorry, Mr. Harper, I don't have that number.

MR. HARPER:  I just thought I was trying to get it all in one place, that's really fine.

MR. ANDRE:  I have made a lot of notes in my evidence, but it is not one of the things I noted.

MR. HARPER:  I would like to look at the cost allocation results you provided for 2030 on the consolidated revenue requirement, and first understand how you allocated the revenue requirement to the uniform system of accounts, which you have to do for the cost allocation model, maybe starting with the residual, in this case the Peterborough and the residual revenue requirement associated with Peterborough.

In reading the evidence, maybe I can tell you what I think I was going on, and you can tell me whether I am correct or not.  I always like to put things in my own words, if it's correct.

The assets -- the assets associated with the Peterborough residual requirement were assigned to the uniform system to those accounts, based on the relative asset allocation from the last cost allocation model that PDI did back associated with its 2013 application.  That is my understanding from reading the various interrogatory responses.  Is that what you did?

MR. ANDRE:  No, that's not correct.  I mean, in trying to develop this model ten years out and given the time frame available to do this response, we took an approach that was feasible to do within the time frame.

So the approach that was used, Mr. Harper, was to both for revenue requirement and for things like rate base.  So starting with revenue requirement, we took the Hydro One revenue requirement and added the residual revenue requirement, and then that combined revenue requirement, we split it across -- we sort of scaled up all of the revenue requirement line items from our 2018 cost allocation model to line up with that revenue requirement.  So it is a scaling-up of the combined total.

MR. HARPER:  Right.  That would apply both to, say, let's say gross fixed assets.  If the gross fixed assets were 10 percent higher, you just would have taken the numbers out of your 2018 cost allocation and increased each gross fixed asset account by 10 percent.

And on the OM&A, if the total OM&A was 20 percent higher, let's say, you would have taken each OM&A-related account in your cost allocation model and increased it by 20 percent.

MR. ANDRE:  Scaled it up, yes that's correct --


MR. HARPER:  Like I said, it's a good thing I asked, because I --


MR. ANDRE:  Yeah, no.  If I wasn't clear, I am glad you asked as well.

MR. HARPER:  Okay.  I think that's it.  And you did the same both for the Orillia and for the Peterborough applications?

MR. ANDRE:  That's correct.

MR. HARPER:  Fine.  Now, I understand in your cost allocation and rate design proposal for the rebasing year, you are talking about using, it would either be Peterborough or Orillia's status quo revenue requirement as -- I think you used the word goalposts in establishing where the, you know, one of the boundaries on what costs in the end should be recovered from the acquired utilities' customer classes.

What I am struggling with is we have a status quo forecast from both utilities, and this is not meant to impugn either utility.  But I guess I was struggling with, how does the Board assess the reasonableness of those status quo revenue requirements for this purpose?  Because they're used not only for this purpose, but they're also used, I believe, in the calculation and your ESM application calculation as well.

And so they're sort of a critical component of the overall proposals, and I was struggling with how does one assess the reasonableness of this.

One idea that came to my mind, and I would like to get both your comments and, perhaps more importantly, maybe Orillia and Peterborough's comments on this, and that was, we know what the actual revenue requirement was for both of the utilities in 2018.  We've got those numbers.  We have got the status quo forecast numbers.

The OEB has recently released the PEG model results for 2018 which shows both projected and actual costs for both Orillia and Peterborough.

Would it be possible using the inflation rates, load growth, and customer growth assumptions that underpin the status quo forecasts to use the PEG model to forecast, to predict what the status quo forecast would be in 2030 with those assumptions and then just look at the relative growth rates, you look at the change from those PEG models results from 2018 to 2030, and compare that to the growth that we're seeing forecast in each of those two cases.

I was wondering whether -- I am struggling with some way of checking the reasonableness, whether that would be one reasonable approach to checking the reasonableness of the forecast.  And maybe since I am talking about Peterborough and Orillia I should ask them to comment first on that if they have managed to follow what I am talking about.

MR. JOHN STEPHENSON:  Well, speaking for Peterborough, I think our status quo projections and the assumptions underpinning them are reasonable, and I think that our history of our utility, in terms of the cost -- if you look back in time and you look forward to what actually is being predicted -- is pretty understandable.

The customer growth rates are historical, bent or pinned.  The OM&A escalation assumptions are all based on, if you looked at our historical run rate of OM&A and if you looked at our cost structure that we know that we have right now, I think they're pretty reasonable.

So I don't think that one needs to really go beyond that, and I would hope that the Board could look at that forecast and fully understand that position in and of itself.

I think when you start to introduce the PEG analysis into that, you are actually putting less clarity into the future for the status quo than what our actual projections present.

So I would be more comfortable with pinning whatever status quo position is as based on what we are presented as status quo and what we as management of status quo, understanding the business, understanding our jurisdiction, have put forward.

MR. HARPER:  I guess you believe that sort of the detail of the assumptions that you have given is sufficient to give the Board comfort that the quality of your forecast is adequate?  Let's put it that way.


MR. JOHN STEPHENSON:  Yes.  I think particularly, yes, through everything, I think so, yes.

MR. HARPER:  I don't know.  Maybe you've got the easy answer now, you say did, or whether you have got a different perspective, that is up to you.

MR. HIPGRAVE:  It is very similar, the response.  I mean, if you look historically at our O&M we have been fairly flat or steady growth in the inflation, in the area basically of an inflation.  And if you look forward to ten years on the O&M line, that is absolutely what you are looking at there.

From the capital side, there might be one or two numbers that look like a little bit of an outlier, you know, particularly in year two, which would be 2021, we would expect to be building a substation in that year, so that makes it a little bit lumpy, and in year nine we've got the building of a service centre.

Aside from that, if you look at an average of our capital across the years, it's, you know, it tends to be in the high 2 to 3 million range on average.

MR. HARPER:  Okay.  That's fine.

MS. RICHARDSON:  Can I also add a couple of comments on there?

MR. HARPER:  Sure, no, no, that's fine.  I'm sorry, I didn't mean you couldn't chime in if you wanted to.

MS. RICHARDSON:  No problem.  First I just wanted to make a correction that the ESM model does not rely upon the status quo, just for your information.

MR. HARPER:  [Microphone not activated]

MS. RICHARDSON:  And also back to attachment 19, I agree with what my colleagues have both said, is that we truly believe that the utility who is running those assets is in the best position to know the asset is in future.

And if we look at attachment 19, which was -- I alluded to earlier, on the rate bases increases that the Energy Board has approved over -- after a five-year rate IRM applications, they range rate base from 6.8 percent to 62.9 percent increases that have been approved.

So if you take a range like that and if PEG uses that type of information, I think you are much better at getting the information directly from the utilities.

MR. HARPER:  Okay.  Actually, there was just one final question I can't find, so maybe I can ask this question, and then maybe Julie, if I can't find the other one, I still want to follow up, I can maybe just have one quick response afterwards.

But I'd like -- within the OPDC application I would like to go to your response to SEC 23.  This is the response that compares the Orillia revenue requirement on a stand-alone bases versus a residual basis.

Just go down to the table.  I think it is the table on the next page.  What I was struggling with trying to understand was why, if the cost of equity has only gone down by, I think $27,000, the taxes which are usually calculated as a percentage of the return go down by 348,000.  I am just trying to understand.  The two numbers seem to be out of whack between each other, to be quite honest with you.  There is probably an explanation.  If I could get it, that would be great.

[Hydro One panel confer.]?


MS. RICHARDSON:  We will take an undertaking to try to delve into those numbers.

MR. HARPER:  Okay, fine, thank you very much.  Like I said, if I could just go through my notes while Ms. Girvan perhaps is doing hers I can see whether there was one quick question I had still left.

MR. MILLAR:  The undertaking is JT2.12.
UNDERTAKING NO. JT2.12:  TO PROVIDE AN EXPLANATION OF WHY, IF THE COST OF EQUITY HAS ONLY GONE DOWN BY POSSIBLY $27,000, THE TAXES WHICH ARE USUALLY CALCULATED AS A PERCENTAGE OF THE RETURN GO DOWN BY 348,000.

MR. MILLAR:  Ms. Girvan.
Examination by Ms. Girvan:

MS. GIRVAN:  Thank you very much.

I am Julie Girvan, representing the Consumers Council of Canada.  And a lot of what I was going to ask has been covered by others, so I won't be long.

Could you first turn to CCC number 1, and this is with respect to the Peterborough application.  It is tab 7.  Number 1.

So the question was -- I guess this is Hydro One's answer, but the question was about letters of comment that have been filed with respect to this application, and I would add I think there is letters of comment with respect to Orillia as well.

And it didn't seem to answer the question whether or not those letters of comment have been responded to.

MS. RICHARDSON:  They have not been directly responded to.

MS. GIRVAN:  In both cases?

MS. RICHARDSON:  Correct.

MS. GIRVAN:  Sorry, Mark, were you...

MR. RODGER:  This is the questions about the process, I think, Julie, and the -- yes, that's correct.  They have not been responded to by Orillia or Peterborough.

MS. GIRVAN:  Okay, thank you.  I guess, though -- sorry, just to follow up on that, I guess in the normal course with respect to, say, Hydro One's distribution application, that the letters are responded to.  I just wondered why in this case they haven't been.

[Hydro One witness panel confers]

MS. RICHARDSON:  Sorry, Ms. Girvan.  None of us are actually aware if we do respond to all letters of comments in our distribution rate application.

MS. GIRVAN:  Okay.

MS. RICHARDSON:  In this application, I think as we tried to say we figured the OEB -- well, the OEB hearing which has intervenors who represent different customer groups should be representing the comments that have come in.

MR. RODGER:  I think particularly for Orillia's case, I think if Mr. Kehoe was here, he would say that he represented all of the ratepayers in Orillia and we dealt with that yesterday.

MR. HARPER:  Don't answer that.

MS. GIRVAN:  Okay.  Just a quick question with respect to the ESM, and I think the ESM amount for Peterborough is 1.8 million.  I just wondered can you explain to me how that is to be funded?

MR. FLANNERY:  The 1.8 million guaranteed ESM is going to be funded through savings and synergies earned over the 10-year deferral period.

MS. GIRVAN:  Okay.  All right.  Thank you.  If you could turn to CCC number 6, please?  This is with respect to -- I think we talked about this yesterday, you talked about this yesterday, the regulatory asset accounts.

Those are going to be maintained in place.  And at some point, you will be seeking future disposition from the PDI customers.

MR. FLANNERY:  That's correct.  Any of the asset or liability that accrued from those customers will be returned to the customers to which it is owed or is owing.

MS. GIRVAN:  Okay.  Do you know at this stage if it's a debt or credit, or if money is going back to customers or money is being charged customers?  Do you know?

MR. FLANNERY:  I believe on a net basis, we could probably look at the financial statements -- that's sort of note 6, I am guessing -- but we would be able to see what the position on a net basis is.

MS. GIRVAN:  Okay.  Could you do that for both Orillia and Peterborough?

MR. FLANNERY:  We can certainly...

Hydro One panel confer]

MS. RICHARDSON:  Sorry.  I believe both of Peterborough and Orillia have filed their current regulatory account balances through interrogatory responses.  I am just not sure where those are.

MS. GIRVAN:  Does Peterborough or Orillia know?

MR. HURLEY:  Could you clarify what you are asking exactly?

MS. GIRVAN:  Yes, it says -- I will just read the answer and it says that:
"The numbered company and Hydro One are applying for approval to continue to track costs to the regulatory asset accounts currently approved by the OEB for PDI, and to seek disposition of their balances at a future date."

I am just wondering if -- there's obviously amounts in those accounts to date.  I just wondered if we could find out what those amounts are.

MR. HURLEY:  So I can only speak for Orillia.

MS. GIRVAN:  Yes.

MR. HURLEY:  Based on our 2018 financial statements.

MS. GIRVAN:  Yes.

MR. HURLEY:  So we have roughly $2 million in regulatory debits, and we have $4.1 million in regulatory credits.

MS. GIRVAN:  So when you say debt or credit, I get mixed up.  I am not an accountant.

MR. HURLEY:  Debt would be like regulatory assets.

MS. GIRVAN:  So is money going back to customers or money being collected from customers?

MR. HURLEY:  Overall, we have a net liability.  There would have to be at some point money repaid.  A lot of that liability is related to our C GAAP.

MS. GIRVAN:  Money repaid to the customers?

MR. HURLEY:  Yes.

MS. GIRVAN:  Does Peterborough have a position on those accounts?

MR. FLANNERY:  Ms. Girvan, I can help you there.

MS. GIRVAN:  Okay.

MR. FLANNERY:  There is, in attachment 1 to
Exhibit I-4-6, which is VECC.  In attachment 1, there are those balances for 2017 and 2018.  And for 2018, we have a net liability of 1.87 million.  So that is --


MS. GIRVAN:  That is Peterborough?

MR. FLANNERY:  That is for Peterborough.

MS. GIRVAN:  That money is going back to customers?

MR. FLANNERY:  That would be a refund owing to Peterborough ratepayers, yes.

MS. GIRVAN:  When do you intend to clear those accounts?

MR. FLANNERY:  So we would take a look at those.  So generally, we would get to where we thought it would be a material balance.  So if it wasn't written anywhere, in terms of the SPA or the asset purchase agreement, the APA. If it wasn't outlined there, we would take a look at it and when it got to sort of a material balance in terms of that utility, we would then look to dispose of those amounts.

MS. GIRVAN:  Okay.  So you don't know at this stage?

MR. FLANNERY:  We haven't made a determination yet.

MS. GIRVAN:  Okay.  Thank you.

MR. FLANNERY:  I guess, just in following on from that, as you can see from Peterborough's attachment 1, a lot of these accounts are commodity-based.  So if you have a look at the second -- or actually the first item on attachment 1, the wholesale market service charge, it seems to have -- some of these items take some swings in debits and credits, depending on what those global adjustments are from period to period.

So a material balance that is negative might go back, as it is done in the 2017 numbers, from a debit to a credit.

So from year to year, there is definitely some movements there.

MS. GIRVAN:  Okay.  I guess my concern, again, this is sort of like the ICM discussion we were having earlier would be if you are going to collect money from customers during the interim period, I think customers might be concerned that that is not consistent with the one percent decrease that you have committed to.

MR. FLANNERY:  I think, just following on from what Ms. Richardson was saying in terms of the one percent down, the one percent down is on the distribution, base distribution charge.

MS. GIRVAN:  I realize that, but I think maybe --


MR. FLANNERY:  But these would be a rate rider and...

MS. GIRVAN:  It is still money that might have to be collected from customers, that's all.

So could you turn to CCC number 10, please?  This is really a question for Peterborough, Mr. Stephenson.  Your initial -- we asked about customer engagement activities and you talk about that the public disclosure of the discussions occurred with a public city council meeting in February of 2016.  Is that correct?

MR. JOHN STEPHENSON:  That's what the interrogatory response says, yes.

MS. GIRVAN:  So that is -- from your perspective, that was your level of -- that your customer engagement with respect to this transaction?

MR. JOHN STEPHENSON:  Absolutely not.  If you actually refer to the 175-page report that is appended, I think, to EP 1, it speaks to the full customer engagement process that not only the city, the community and ourselves engaged in.

MS. GIRVAN:  Okay.

MR. JOHN STEPHENSON:  That went throughout 2016, including customer focus groups that were conducted in each ward of the city, as well as a bunch of public information sessions that were held throughout the year.

MS. GIRVAN:   You haven't gone back to your customers since 2016 with respect to seeking approval of this -- of this merger?

MR. JOHN STEPHENSON:  The approval of the transaction was in the hand of city council.

We went through the customer engagement processes, as I have described, throughout 2016.  And council, in their right, made the approval with all of that information in front of them at the end of 2016.

So at that point in time, we were then in a finish position pending this proceeding.

MS. GIRVAN:  So you haven't gone back to customers since 2016?

MR. JOHN STEPHENSON:  I would see no need to do that, given the process that we went through in 2016.

MS. GIRVAN:  Okay, great, thank you.

MR. RODGER:  Maybe I could just add, Ms. Girvan, that we provided all of those materials on the public consultation as a courtesy.  But as you will recall, what the OEB has said in its MAAD guidelines in the past decisions on the no-harm test, it is really the process, the public process.  Whether there was one or not is irrelevant to the Board's consideration of the no-harm test in the context of a MAAD application.

MS. GIRVAN:  Okay.  I would just argue that the no-harm test is evolving over time, so...

Okay.  If you could turn to SEC number 30, and this is again in the Peterborough application.  In the context of that answer, there was a response that says:

"Hydro One has no reason to believe that future rates will be in excess of what the customers of PDI would have faced in the absence of the transaction."

And that is sort of one of the fundamental principles, I think, that you are relying on in this case.

And I am just -- my question is really, what if Hydro One's costs rise and that the shared cost allocation is higher than you have expected?  What happens under that scenario?

[Hydro One witness panel confer]

MR. ANDRE:  So Ms. Richardson is reminding me that the magnitude of the OM&A savings that are associated with PDI, you know, the amount of 7.8 million or 65 percent in OM&A savings.

So we certainly, as stated in the interrogatory response, would not anticipate that those rates would exceed the status quo.

But if the allocation -- you know, I think we have covered that scenario where if the allocation of costs exceeded the status quo, that in and of itself wouldn't be a problem as long as the proposed rates to be collected from, you know, using the revenue-to-cost ratios that fall out of the rate design process, the Board's rate design process, so as long as the revenues to be collected didn't exceed the status quo, then there wouldn't be an issue.

If the normal process -- and I think we have an IR response that talks theoretically, if that were
to happen --


MS. GIRVAN:  Yes.

MR. ANDRE:  -- we could scale back the rates for PDI so that they would not collect more than the status quo, which would -- granted, it would need some of the shared costs are now being collected from the legacy customers, but let's not lose sight of the fact that legacy customers would still be seeing the maximum benefit available from the savings generated by this transaction.

All that scaling back would do is ensure that they don't get more than the maximum savings.  So, you know, that -- moving to that upper goalpost in terms of charges collected from PDI customers would ensure that legacy customers collect the maximum savings generated by this transaction.

MS. GIRVAN:  Okay.  I have to think about that.

Could you please turn to CCC number 16, and this is again in the Peterborough application.

Is it frozen?  Okay.  Actually, it is in the other -- it's in -- no, it's -- I've got it in front of me.  It is Peterborough, yes.  Yes.  It's tab 5, schedule 16.
Not tab 7.

Yeah, sorry.  So I just -- I wanted to be clear.  It gets a little confusing.  It says here about harmonizing into Hydro One's rate structure at the end of the deferral period, but that is not what you are proposing to do; is that right?

MR. ANDRE:  So my use of the word "harmonize" means bringing it into a cost -- a uniform cost allocation and rate design model.  So that is what I mean by harmonize. It doesn't imply moving them into Hydro One's existing rates.  It means bringing it into the rate structure, construct, where costs are allocated across all classes, including the new acquired classes, if that is the way we go, the new acquired classes for PDI.

So that is what harmonized means.  It means, you know, having one cost allocation model --


MS. GIRVAN:  I was thinking of the previous context, where all of your rates would be harmonized.  So that's fine.

And I just had -- let me just follow up -- okay.  Those are my questions.  Thank you.

MR. MILLAR:  Mr. Harper, did you have something further?
Examination by Mr. Harper:  (Cont'd)

MR. HARPER:  Yes.  Just a quick one.  It has to do with -- it is within the Orillia application.  It has to do with the response to OEB 19, which is Exhibit I, tab 1, schedule 19, attachment 4, page 1.  I guess this would go, actually, to the Orillia people that are here.

It's the capital spending forecast that underpins your status quo forecast.  We're just -- curious to me, and I sort of skipped over it when I was going through with my questions, was what I remembered at the end was that if I look at the years '22 and '23 we have a capital spend of somewhere between one-and-a-half and 2 million dollars.  Then from '23 to '4 the spending actually jumps up by roughly a million dollars and maintains that higher level throughout.  But there isn't the same level of detail as was in the previous five years.

I guess I was just wondering, what led you to sort of basically, you know, increase the capital spend in the last five years by roughly what looks like something in order of a million dollars a year relative to the years just before that?

MR. HIPGRAVE:  I think if you look at comparing '23 to '24, certainly I agree with your comment that there is a jump.

However, if you look over a broader period and even going back further to years that aren't on this chart, our norm, so to speak, is in the neighbourhood of 2.5 to $3 million a year for capital.

We know that we would likely have a couple of heavier years in '20 and '21, '21 in particular, where we are planning to build a substation.

So, you know, as a bit of a smoothing exercise, in our capital planning, when we have a really heavy year we will try to back down in subsequent years, and that is really what you are seeing in '22, '23.

If we speak to kind of to '24 going forward, yeah, we don't have a detailed breakdown, because typically we're looking out on a four- to five-year cycle to get into more detail where projects -- you know, they might not be fully engineered yet, but we have a better sense of actual projects that we're looking to undertake in that period.

Beyond the year '23, we've essentially smoothed that a little bit just because it is really outside of our planning scope, so we tend more to our average capital figure for that year -- or, sorry, historically our average capital figure, and then, you know, as years move forward we will get into some more detailed planning and break that out into the different categories, be it poles, wires, stations, fleet, et cetera.

MR. HURLEY:  If I could just add to the projection.

The four years, '20, '21, '22, '23' average about almost 2.7 something million.  We inflated that by 2 percent to come up with our starting point for 24 and on.

And those kinds of numbers are supportable all the way back to 2011.  If you were to look at our capital spend and take an average that far back you would find we're basically online with the last seven or eight years.

MR. HARPER:  One of the big chunks here is obviously the substation spending you are doing in 2021.  You know, we had a fair bit of discussion about, I think, Peterborough's substations.

How many substations -- once you build this new one, how many existing substations do you have?

MR. HIPGRAVE:  Sure.  So we have nine in our system.  I think I may have mentioned this yesterday, but no problem.  It's -- we've got one that is actually coming online this year.  We have one that we built in 2016.  I think it came online just early in '17.

Looking at the remaining seven, five of those are in the 1970s vintage.  So, you know, currently they're at 40 to 50 years of age.  So our intention over the period '24 to '30 would likely be to build two, possibly three, although we've smoothed that cost over those five years, not knowing at this point exactly what year we would build those substations in.

MR. HARPER:  Fine, thank you.  I was just trying to sort of understand the reason -- you have been helpful in that regard.  Thank you very much.

MR. HIPGRAVE:  You're welcome.

MR. HARPER:  Those are all of my questions.

MR. MILLAR:  Okay, anyone else?  Okay.  Very good.  With respect to undertakings, do we have a guesstimate on the timeline for those?

MR. KEIZER:  I think it was in the Board order, was it not?

MR. MILLAR:  Oh, yes, it is.  You're right.  I'm sorry.  I have it right here.  So why don't I just read that.  The date for that is October 18th.  So do you think we will be on-track for that?

MR. KEIZER:  I think we just have to assess --


MR. MILLAR:  Okay.

MR. KEIZER:  -- where we're at given the nature and the number of undertakings we have taken.

MR. MILLAR:  Okay, great.  Well, with that, thank you to the witnesses, the parties and, of course, the court reporter, and I guess we are adjourned, and we will wait on further instruction from the Board.

MR. RODGER:  Thank you very much.

MR. KEIZER:  Thank you.
--- Whereupon the conference concluded at 2:51 p.m.
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